SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in Lobbe)	10 Draw of Lots/Bidding	11	12
1	Within 2 KMs from Police control room,Ashoknagar on Ashoknagar new bypass	ASHOKNAGAR	Regular	152	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
2	From village Pranpur to village Kunwarpur on Chanderi - Rajghat Road SH-54A	ASHOKNAGAR	Regular	154	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
3	From village Chhitari to village Daulat Khedi on SH-11	ASHOKNAGAR	Regular	165	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
4	Village Masod on Bhaisdehi Multai Road (On State Highway)	BETUL	Regular	156	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
5	From village Mohda to village Chillore on NH 347 B	BETUL	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
6	From village Mehda to village Gorai on highway	BHIND	Regular	163	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
7	Between KM stone 20 and 30 on Bhopal Berasia State Highway (SH10)	BHOPAL	Regular	159	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
8	Between KM stone no. 50 to 54 on Bhopal - Sironj HIghway	BHOPAL	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
9	Within 6 KMs from Fanda Toll Plaza towards Bhopal on Indore Bhopal Highway	BHOPAL	Regular	152	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
10	Between KM stone 2 and 7 on Datia-Dinara State Highway(SH19)	DATIA	Regular	154	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
11	From village Kumbhraj to Village Mundra on SH 18	GUNA	Regular	152	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
12	From village Leg nagar to village Diroli on SH 18	GUNA	Regular	159	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
13	Between Gwalior Airport Square and intersection of NH44 &Bhind Road on Bhind Road	GWALIOR	Regular	168	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
14	Within 4 KMs from Panihar Toll Plaza towards Gwalior on RHS while moving from Shivpuri to Gwalior on NH46	GWALIOR	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
15	From village Bijanwada to village Matkuli on Pipariya Pachmari highway	NARMADAPURAM	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
16	Within Municipal Limits of Itarsi (not on NH/SH)	NARMADAPURAM	Regular	162	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
17	Within Municipal limits of Mandideep (not on NH/SH)	RAISEN	Regular	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
18	With in 3 KMs from Raisen Main Market Junction towards Nakhtara on Raisen Gairtaganj Road	RAISEN	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
19	Within Municipal Limits of Badi (Not on NH/SH)	RAISEN	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lates)	10 Draw of Lots/Bidding	11	12
20	From village Jamonya (tehsil khilchipur) to village Manya Khedi(tehsil Zirapur) on NH 752B	RAJGARH	Regular	169	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
21	Within 3 KMs from Bus Stand Sarangpur on Sarangpur Sandavta Road	RAJGARH	Regular	163	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
22	Within Municipal limits of Khilchipur on Bhumria Papdel Road via Village Bagheli (Not on Highway)	RAJGARH	Regular	152	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
23	Within 3km from Shashkiya Prathmik shala Nonghati towards Rajendragram on Sh-34	ANUPPUR	Regular	140	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
24	Within 2km from Lilatola Chauraha towards Sagartola on SH- 35, on Rajendragram Lilatola Road	ANUPPUR	Regular	135	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
25	Within 5 Km from Post Office Paraswada towards Lamta on Baihar Lamta Road	BALAGHAT	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
26	Within 3 KM from Police substation Bandha towards Baldevgarh on Bandha Tigadda to Baldevgarh Road	CHHATARPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
27	Between KM Stone No 36 to 40 on NH 347	CHHINDWARA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
28	Within 4 km from Shiv Mandir, at Sakkar river towards Batkakhapa on SH	CHHINDWARA	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
29	Within Nagar Parishad Limit of Pandhurna ( not on NH/SH)	CHHINDWARA	Regular	142	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
30	Within Nagar Palika Parishad Limit of Damua on State Highway	CHHINDWARA	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
31	Within 3KM from MPEB Chhindi on State Highway	CHHINDWARA	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
32	Within 1 km from Police Station Harrai within Nagar Parishad Limit of Harrai	CHHINDWARA	Regular	102	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
33	on Jabera Bypass of Katangi Damoh State Highway	DAMOH	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
34	From Village Jagthar to Village Kerbana on Kerbana Pathariya State Highway	DAMOH	Regular	103	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
35	Within 4 KM towards Dindori from Gorakhpur Chowk dindori on Dindori Amarkantak Road	DINDORI	Regular	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

Si No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	te * M.)/Area of the site (in Sq.				be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in Lothe )	10 Draw of Lots/Bidding	11	12
36	Between KM Stone No. 823 to KM Stone No. 827 on RHS on NH 30 while going towards Jabalpur from Katni	JABALPUR	Regular	165	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
37	From Km stone no 50 to 55 on NH 45 on RHS while going towards Bhopal from Jabalpur	JABALPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
38	Between Madhav Nagar Gate & Peer Baba Dargah Gate Katni on Left hand side while going from Katni to Jabalpur on old NH	KATNI	Regular	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
39	Village Kuwayala Tehsil Banda to Village Rurawan Tehsil Shahgarh on NH 934	SAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
40	Between KM Stone No 739 to 749 on NH30 on RHS While Going Towards Katni from Maihar	SATNA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
41	Between Km stone no 13 to 15 on State highway connecting Lakhnadon to Mandla	SEONI	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
42	Within Nagar Parishad limit of Beohari( Not on NH/SH )	SHAHDOL	Regular	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
43	Within Nagar Parishad limit of Bargawan, (Not on NH/SH)	SINGRAULI	Regular	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
44	Between KM Stone no 45 to 51 on NH-43, Katni Umaria Road	UMARIA	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
45	Between KM stone number 4 and KM Stone No. 6 on Jobat Bagh Highway	ALIRAJPUR	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
46	Between KM stone number 17 and KM Stone No. 19 on Chandrasekhar Azad Nagar to Udaigarh Highway	ALIRAJPUR	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
47	Between KM stone No. 113 and KM Stone No. 117 on agra mumbai National Highway On RHS while going to Mumbai from Indore	BARWANI	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
48	Between KM stone no 2 and KM Stone No. 4 on Palsud Barwani Highway	BARWANI	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
49	Within 2 Kms from Pati bus stand towards Bokarata on Pati- Bokarata Highway	BARWANI	Regular	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

Ind	lian Oil Co	orporatio	n Limited	proposes t	o appoin	nt Retai	l Outle	et deal	lers in	Madhya	Prade	esh, a	as per f	ollowing	details:
-----	-------------	-----------	-----------	------------	----------	----------	---------	---------	---------	--------	-------	--------	----------	----------	----------

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi of the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in	10 Draw of Lots/Bidding	11	12
50	Within 2 Kms from Goverment Higher Secondary School,Bokarata towards Khetia on Pati-Khetia Highway	BARWANI	Regular	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
51 52	Within 2 KM FROM B R RESORT , ARNIYA ON SH28 Within 3 kms from Foodie Hotel towards Indore on LHS while going towards Indore from Mumbai	DEWAS DHAR	Regular Regular	100 300	ST ST	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
53	Within Municipal Limit , Dahi	DHAR	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
54	Between KM Stone No. 58 to KM Stone No. 60 on Rajgarh Kukshi State Highway	DHAR	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Within 1 Km from Bilda Gram Panchayat office on Tanda- Gandhwani State Highway , on Left Hand Side while going to Gandhwani from tanda	DHAR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
56	Between Km Stone No 8 to Km Stone No 12 on Manawar- Mandwada State Highway	DHAR	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
57	Within 6 Kms from Dholya Gram Panchayat Office towards Kukshi on Alirajpur- Kukshi State Highway	DHAR	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
58	Within 2 KM from Shri Vijay Ganesh Mandir, Lohari on Manawar Dhamnod State Highway	DHAR	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
59	Within 2 KM from Aadarsh Aanganwadi kendra ,Badi Unnai on Thandla-Petlawad State highway	JHABUA	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
60	Between KM stone no. 1 and KM Stone no. 3 on Thandla Kushalgadh State Highway on Right hand side While going to Kushalgarh from Thandla	JHABUA	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
61	Between KM Stone No. 58 and KM Stone No. 60 on Khandwa - Harda State Highway	KHANDWA	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
62	Within 3 Km from Laduna Chowk(Maharana Pratap chowk) on Sitamau -Laduna Road .	MANDSAUR	Regular	135	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
63	Within 2 Km from Shaskiya Madhyamik Vidhyalaya,Dadoli on Neemuch Singoli Road	NEEMUCH	Regular	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o				be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in Labbe)	10 Draw of Lots/Bidding	11	12
	Between KM stone no 262 and KM Stone No. 267 On Agra Mumbai National Highway On Left Hand Side while going to Indore from Agra	SHAJAPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
65	Within Municipal Limit of Ujjain City on MR-2 BETWEEN DISTRICT REGISTRAR OFFICE AND MP PASHCHIM VIDHYUT VITRAN KENDRA MAHANANDA ZONE	UJJAIN	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
66	BETWEEN SHRI CHAKRADHARI SHIV MANDIR, UJJAIN AND GAUGHAT RAILWAY COLONY MAIN GATE UJJAIN	UJJAIN	Regular	155	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
67	Within 10 KM from Govt Model Higher Secondary School, Gohad towards village Bhagwasa on Gohad-Dhamsa road	BHIND	Rural	74	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
68	Village Khitoli Tehsil Gohad	BHIND	Rural	76	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
69	Village Bagarauda, Tehsil- Huzur	BHOPAL	Rural	82	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
70	Village Kodi, Block Phanda, District Bhopal	BHOPAL	Rural	73	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
71	Village Todi ,Tehsil Chachoda	GUNA	Rural	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
72	Village Khadela Tehsil Bamori	GUNA	Rural	78	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
73	Village Pawaya tehsil Bhitarwar	GWALIOR	Rural	95	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
74	Village Anghora Tehsil Udaipura	RAISEN	Rural	94	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
75	Village Aliwada Tehsil Deori	RAISEN	Rural	74	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
76	Village Katak Tehsil Deori	RAISEN	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
77	Village Sunhara Tehsil Udaipura	RAISEN	Rural	71	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
78	Village Bherwa Khedi (Tehsil Khilchipur ) on khilchipur sandavta road	RAJGARH	Rural	75	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
79	Village Nipaniya Kalan Tehsil Astha	SEHORE	Rural	78	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
80	Village Kasampura tehsil Ashta	SEHORE	Rural	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
81	Village Handi,Tehsil-Badauda	SHEOPUR	Rural	77	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	Village Myapur Tehsil-Khaniyadana	SHIVPURI	Rural	73	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
83	Within 3 KMs from Panihara Tiraha towards myapur	SHIVPURI	Rural	79	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
84	Village Bhaisrawan tehsil Pohri	SHIVPURI	Rural	76	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
85	Village Chathauli, Tehsil Sironj	VIDISHA	Rural	77	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Madhya Pradesh, as per following details
--

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimateu fund required for developmen t of infrastructu re at RO (Rs. in Locks.)	10 Draw of Lots/Bidding	11	12
86	Village Atasemar Tehsil Basoda	VIDISHA	Rural	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
87	Village Sultaniya, Tehsil Vidisha	VIDISHA	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
88	Village Bahedabarri on Lateri Shamshabad Road	VIDISHA	Rural	74	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
89	Within 1.5 KM of Navin Prathmik Vidyalay, Patel faliya Umrali on Umrali Sondwa Road, Tehsil : Sondwa	ALIRAJPUR	Rural	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
90	Within 2 KM from Govt. Girls High School, Chhaktala on Alirajpur-Kavant Road, Tehsil: Sondwa	ALIRAJPUR	Rural	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
91	Within 1 KM from Prathmik Swasthya Kendra,Chachariya Pati on Sendhwa Dhulkot Road , Tehsil Sendhwa	BARWANI	Rural	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
92	Within 2 KM from Shaskiya Madhyamik Vidyalay , Jhapadipadla towards Panjaraya , Tehsil Sendhwa	BARWANI	Rural	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
93	WITHIN 2 KM FROM DREAM EXOTIC RESORT, BHADAPIPALYA TOWARDS VILLAGE BHONDWAS VIA BHADAPIPALYA CHOURAHA, TEHSIL: DEWAS	DEWAS	Rural	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
94	Within 2 KM FROM KRISHNA KUNJ ACADEMY ,KELOD ON RAJODA-DOUBLE CHOWKI ROAD,TEHSIL : DEWAS	DEWAS	Rural	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
95	Upto 2 KM from RBL Bank Limited, Bawadikheda on Bijwad- Kusmaniya Road , TEHSIL : Kannod	DEWAS	Rural	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
96	Within 1 KM from Shaskiya Adivasi Kanya Ashram, Nayapura (Khokhariya), Tehsil: Dharampuri	DHAR	Rural	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
97	Within 2 Km from Brahamanpuri Circle, Tehsil Dharampuri on Umarban -Sirodiya Road	DHAR	Rural	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
98	Between Km Stone No 13 and Km Stone No 15 on Baleri - Badodaiya Road ,Tehsil: Gandhwani	DHAR	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
99	Between KM Stone 20 and KM Stone 22 on Gandhanwani Singhana Road, Tehsil Manawar	DHAR	Rural	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
100	Within 2 KM from Gate of Mount Everest Brewries, Memdi on Mhow-Simrol Road, Tehsil : Dr. Ambedkar Nagar	INDORE	Rural	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	e * M.)/Area of the site (in Sq.				be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Leibe)	10 Draw of Lots/Bidding	11	12
101	Between KM Stone No. 10 and KM Stone No. 13 on Chander- Kesur Road, Tehsil : Depalpur	INDORE	Rural	95	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
102	Within 2 KM from Rewa Agro Food Products, Dhannad on Dharwara-Dhannad road Tehsil- Rau	INDORE	Rural	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
103	Within 2 KM of Govt. high School, Nawapadapal on Madrani- Mandli Road , Tehsil Meghnagar	JHABUA	Rural	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
104	Between Meghnagar-madrani road to Thandaladra Gujarat border Road on PMGSY	JHABUA	Rural	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
105	Within 2 km From Prathmik Vidyalaya, Fatepura , Tehsil Rama on Jhabua-Matasula road	JHABUA	Rural	56	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
106	WITHIN 2KM FROM GOVT. HIGHER SECONDARY SCHOOL, ROTLA, ON KALIDEVI-PARA ROAD TEHSIL: RAMA	JHABUA	Rural	56	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
107	Wihtin 6 Kms from Intersection of NH347B and Jhiranya road on Jhiranya Road, Tehsil : Bhikhangaon	KHARGONE	Rural	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
108	Village Tinsya , Tehsil Jhiranya	KHARGONE	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
109	Within 2 KM from Samudayik Bhavan, Palsoda on Neemuch - Jharda Road, Tehsil : Jeeran	NEEMUCH	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
110	Village Rani-Barod, Tehsil Polaykalan on Akodiya Sundarsi Road	SHAJAPUR	Rural	70	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
111	Within 2 KM from Ujjain Indore Highway & Ujjain Nagda Bypass Intersection ON Ujjain NAGDA By Pass Road	UJJAIN	Rural	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
112	Village-Tirodi on Tirodi Katangi Road, Tehsil-Tirodi	BALAGHAT	Rural	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
113	Village Jarahmohgaon ,Tehsil-Katangi	BALAGHAT	Rural	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
114	Village Dongariya on Garra Waraseoni MDR road, Tehsil - Lalbarra and District - Balaghat	BALAGHAT	Rural	85	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
115	Village Kirnapur on Rajegaon Lanji MDR road	BALAGHAT	Rural	105	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
116	Village Banwar Tehsil Jabera	DAMOH	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
117	Village Nohta tehsil Jabera	DAMOH	Rural	130	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
118	Village Ghat Pipariya , Tehsil Jabalpur	JABALPUR	Rural	70	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in	10 Draw of Lots/Bidding	11	12
119	Village Barbati, Tehsil Jabalpur, on Rani Durgawati Samadhi Road	JABALPUR	Rural	80	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
120	Village Pindrai on MDR Road, Tehsil-Nainpur	MANDLA	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
121	Village Baleh Tehsil Garhakota	SAGAR	Rural	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
122	Village Narwani Tehsil Sagar	SAGAR	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
123	Village Khairana Tehsil Rehli	SAGAR	Rural	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
124	Between Sagauni Kalan to Jigna on Rewa -New Ram Nagar Road	SATNA	Rural	90	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
125	From Gorsari to Bada Itma , on Gorsari-Badera Road via Madwar	SATNA	Rural	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
126	Within 3 Kms from Mayapur Tiraha towards Hanumana on Bahri- Hanumana Road Tehsil Bahri	SIDHI	Rural	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
127	From Village Jamgadi to Village Khanu Nawa ,Tehsil Sarai on Rajmilan - Sarai Road	SINGRAULI	Rural	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
128	From Village Chhatkaram to Village Karami on Mada - Makrohar Road, Tehsil Mada	SINGRAULI	Rural	55	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
129	Village Langhadol Tehsil Sarai on Bindul -Langhadol road	SINGRAULI	Rural	95	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
130	Within 5 kms from Police Chowki Khutar,Tehsil Singrauli towards Mada on Parsauna Rajmilan road	SINGRAULI	Rural	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
131	From village Kundwar to village kusedi,Tehsil Deosar on Jiawan- Belmani Road	SINGRAULI	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
132	From Village Bairdah to Village Sakariya , Tehsil Chitrangi on kathua to chitrangi Road	SINGRAULI	Rural	56	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
133	From Village Narwar to Village Ghulghuli Tehsil Karkeli on Karkeli Ghulghuli Road	UMARIA	Rural	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
134	From Village Deori to Village Balhaud , Tehsil Manpur on Manpur Beohari Road	UMARIA	Rural	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
135	From village Sahrai to village Beegha on NH-346	ASHOKNAGAR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	e * M.)/Area of the site (in Sq.				be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lobe )	10 Draw of Lots/Bidding	11	12
136	Within 2 KMs from Rajmata Chauraha towards Shani mandir on Bypass Road	ASHOKNAGAR	Regular	152	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
137	Within Municipal limits of Shadora(Not on SH/NH)	ASHOKNAGAR	Regular	122	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
138	Within 2 KM from Bajitpur Choauraha (Intersection of SH9&Shadora-Bajitpur Road) towards Aron on Aron Ashoknagar Highway	ASHOKNAGAR	Regular	151	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
139	Within Municipal limits of Chanderi (not on NH/SH)	ASHOKNAGAR	Regular	153	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
140	Within 2 KMs from Gurudwara Singh Sabha, Kabiri urf Ramnagar towards Ishagarh on SH 4 (Ishagarh-Chanderi road)	ASHOKNAGAR	Regular	149	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
141	WIthin 2 KMs from Police Thana, Bhadon on Ashoknagar- Vidisha road	ASHOKNAGAR	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
142	From village Ghat Bamuriya to village Atareji on NH346	ASHOKNAGAR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
143	From village Nimpani to village Padhar Buzurg on NH 46	BETUL	Regular	175	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
144	Within 8 KMs from Betul Butterfly NH circle towards Indore on new NH 47	BETUL	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
145	Within 5 kms from Police station Jhallar on NH 548C	BETUL	Regular	159	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
146	Within 5 KMs From Gudgaon Chowk on NH 548C towards Betul	BETUL	Regular	166	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
147	From Village Nagarcot to village Chainpur on NH 47	BETUL	Regular	175	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
148	From village Chikhali Amdhana to village Ranipur on State highway	BETUL	Regular	128	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
149	From village Dahuwa to village Kheirwani on NH 347	BETUL	Regular	160	OPEN	CC	35	35	1225	32	12	Bidding	30	5
150	From Churna Tiraha Bhoura to Van Vikas abhikaran, Uttar Betul office, dhar on NH 46 (In Betul district)	BETUL	Regular	172	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
151	Within 5 KMs towards Khamla from Bhaisdehi Bus Stand on State highway	BETUL	Regular	107	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
152	Within 2 KMs from Ghoradongri Railway crossing towards Baretha Jod on Baretha- Sarni Road	BETUL	Regular	125	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi If the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in Lacks.)	10 Draw of Lots/Bidding	11	12
153	From Betul - Ghodadongri - Sarni Tiraha(near Ghodadongri) to Ghodadongri Railway crossing on Baretha Sarni Road	BETUL	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
154	Within 5 kms from Nagpur Naka,Multai on Warud Multai Road ( NH 347A )	BETUL	Regular	159	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
155	From Kamani Gate to Banjari mata mandir sonaghati on Chakkar Road	BETUL	Regular	106	OBC CC 1	DC	20	20	400	32	55	Draw of Lots	15	4
156	From village Kothalkund to village Dhaba on NH548C	BETUL	Regular	167	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
157	Within 3 KMs from Athner bus stand towards betul on Athner Betul road	BETUL	Regular	124	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
158	From Village Kukaru to (Maharastra - Madhya pradesh border) towards Bhaisdehi on State Highway (in Betul district)	BETUL	Regular	111	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
159	Within 1.5 KMs from Dream land city Gate,Multai on Betul Road	BETUL	Regular	123	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
160	Within Municipal limits of Chicholi (not on NH/SH)	BETUL	Regular	159	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
161	Within 3 kms From Police Chowki (Nagpur - Naka), Multai towards Chindwara road on NH 347	BETUL	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
162	From village Khairwani to Betul-chhindwara district boundary on Sarni - Chindwara road (on State highway)	BETUL	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
163	From Village Chandora Khurd to Karpa Chouraha on State Highway(Khedli Bordehi road)	BETUL	Regular	124	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
164	Within 3 KMs from Marhi Mata Chowk,Bhaisdehi on Bhaisdehi-Multai State highway	BETUL	Regular	162	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
165	From DBL Betul-Sarni Toll Plaza to Sarni on State Highway	BETUL	Regular	137	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
166	From village Daboh to village Deorikalan on NH 552E	BHIND	Regular	158	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
167	Between KM stone 48 and 54 on NH-719 (Old NH 92)	BHIND	Regular	159	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
168	Between Lahar chungi,Bhind City & indra gandhi square on National Highway	BHIND	Regular	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi If the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lobbe)	10 Draw of Lots/Bidding	11	12
169	Within 3 KM from Malanpur police station towards Bhind on NH 719 (old NH92)	BHIND	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
170	From village Dhochara to village Umri on highway	BHIND	Regular	126	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
171	From village Mohanpura to village Kachnav Kalan on Kachnav Gormi Road	BHIND	Regular	104	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
172	Village Mehgaon on Mau-mehgaon road (State Highway)	BHIND	Regular	149	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
173	within 2 KMs from gormi kachnav tiraha towards porsa on State Highway (Porsa-Gormi-Mehgaon road)	BHIND	Regular	124	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
174	From ISBT Registrar Office to Hotel Amer Greens ( Hoshangabad Road) on Hoshangabad road	BHOPAL	Regular	230	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
175	Within Municipal Limits of Bhopal	BHOPAL	Regular	210	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
176	From Rajrup Motors, JK Road to CIPET(Central Institute of Petrochemicals Engineering & Technology) on JK Road	BHOPAL	Regular	230	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
177	From Lalghati chouraha to intersection of Bhopal Bypass & Bhopal Indore road on Bhopal Indore road Via Chirayu Hospital	BHOPAL	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
178	From SBI Gulmohar Branch to Aakriti Eco city gate on Bawadia kala main road via Reliance Smart	BHOPAL	Regular	240	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
179	Within 1 KM from Masjid Ismail on Lambakheda Islamnagar Road	BHOPAL	Regular	185	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
180	From village Khejra Kamal to village Damkheda on NH346	BHOPAL	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
181	Within 1 KM from Sai Kripa marriage Hall on Ayodhya bypass Road	BHOPAL	Regular	195	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
182	Between Bhanpur Chowk to karond Circle on Ayodha Bypass Road	BHOPAL	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
183	From Kaliasot Bridge,Kolar road to Mother Teresa Senior Secondary School, Kolar road on Kolar road	BHOPAL	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
184	Between Ratnagiri Tiraha to Khajuri Khurd Chowk on Raisen Road (Within municpal limits of Bhopal)	BHOPAL	Regular	165	OBC	DC	20	20	400	32	75	Draw of Lots	15	4

Indian Oil Corporation	Limited proposes to	appoint Retail Outlet	dealers in Madhya Pradesh,	as per following details:

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o		•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Laths)	10 Draw of Lots/Bidding	11	12
185	From intersection of Bhopal-Sagar Road& Bhopal Bypass to Hoshangabad Road-Bhopal Bypass Intersection on Bhopal Bypass	BHOPAL	Regular	160	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
186	From Bank of India Awadhpuri Chowk to Surbhi Lifespaces apartment (on Khajuri Kalan road)	BHOPAL	Regular	160	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
187	Between Mubarakpur Circle and intersection of Bhopal Bypass& Bhopal-Indore road on Bhopal Bypass	BHOPAL	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
188	From village Kolua Khurd to village Naronha Sankal on NH 146 (Bhopal Sagar Road)	BHOPAL	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
189	From Berasia Chowk to village Kulhor on NH346	BHOPAL	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
190	Between Ratnagiri Tiraha and Dmart, Ayodhya bypass on Ayodhya Bypass Road	BHOPAL	Regular	180	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
191	From Dana Pani Resturant to Habibganj underbridge on road via Shalimar Enclave	BHOPAL	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
192	Within 1.5 KMs from Danish Chouraha towards Aamra valley via Vidhan Eleena apartment gate (sankhedi)	BHOPAL	Regular	167	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
193	Between Karond Chouraha and Arwalia Chouraha on Berasia Road(Within Municipal limits of Bhopal)	BHOPAL	Regular	165	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
194	Village Bishan Khedi, Halka Beelkheda (Within Municipal limits of Bhopal)	BHOPAL	Regular	165	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
195	From Shree Radhekrishna Marriage Garden to Richmond Heights apartments on road via Manomay Green Nursery	BHOPAL	Regular	175	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
196	From Kanchan Nagar Colony Chouraha to Canara Bank Awadhpuri Branch on BDA road.	BHOPAL	Regular	166	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
197	Within 1 KM from British Park Main Gate (Opposite IPER college on Bhojpur Road) on Bhopal Chiklod Road (Within Municipal Limits of Bhopal)	BHOPAL	Regular	168	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
198	From Itwara Chouraha to Charbatti Chouraha on road via masjid Birjisia	BHOPAL	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lates)	10 Draw of Lots/Bidding	11	12
199	Between Dmart, Ayodhya bypass and Bhanpur Chowk on Ayodhya Bypass Road	BHOPAL	Regular	185	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
200	From village Imaliya Swaroop to Bhojapura Jod on NH346	BHOPAL	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
201	Within 4 KMs from Karond Choraha towards Airport Road on Karond Bypass Road	BHOPAL	Regular	165	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
202	From Shree Maa Kalka Bijasan Devi Mandir Chunnabhatti to Hotel Taj Lakefront on road via MANIT chouraha	BHOPAL	Regular	173	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
203	Salaiya (Within Bhopal Municipal Limits)	BHOPAL	Regular	165	OPEN CC 2	DC	20	20	400	32	75	Draw of Lots	15	5
204	Between Bhopal-Vidisha square and Khajuri Khurd square on bhopal bypass Road	BHOPAL	Regular	156	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
205	From UCO Bank Piplani to Bhopal Bypass on Khajuri Kala road via Khajuri Kala	BHOPAL	Regular	162	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
206	From Paras Urbane Park(Residential colony), Bawadia Kalan to Kolar road Police Station on road via Ondoor Danish kunj	BHOPAL	Regular	180	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
207	Within 4 KMs from Bhojapura jod towards Ahmedpur on NH346, (in Tehsil Berasia)	BHOPAL	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
208	Within 4 KMs from Arwaliya Chowk towards Berasia on Bhopal Berasia State Highway(SH10)	BHOPAL	Regular	125	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
209	From Rudreshwar Mahakal Shiv Mandir( near chunnabhati chauraha) to Bawadiya Kalan railway overbridge on road (adjacent to Canal) via Shahpura Thana	BHOPAL	Regular	170	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
210	From Runaha Jod to village Sindhora on LHS while moving to Najirabad from Berasia on Berasia Maksudangarh Highway	BHOPAL	Regular	125	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
211	From Runaha Jod to village Sindhora on RHS while moving to Najirabad from Berasia on Berasia Maksudangarh Highway	BHOPAL	Regular	125	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
212	On Bhopal Bypass Road, Between Arwalia Chouraha to Vidisha-Bhopal Road Chouraha	BHOPAL	Regular	156	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o		•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Leibe.)	10 Draw of Lots/Bidding	11	12
1 213	Between Mubarakpur Circle and arwaliya chouraha on Bhopal Bypass road	BHOPAL	Regular	154	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
214	Within 2.5 KMs from Katara Hills School towards Barkheda Pathani on Barkheda Pathani Road	BHOPAL	Regular	160	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
215	From village Dalpatpura to village Gora on NH 552 E	DATIA	Regular	164	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
216	Between KM Stone 125 and 130 on RHS while going from Gwalior to Datia on NH 44	DATIA	Regular	168	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
217	From KM stone no. 105 to 110 on Datia-Seondha State highway(SH19)	DATIA	Regular	162	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
218	Within 4 KMs from RTO Check post Sikandra ( NH27 & SH 19 Junction) towards Jhansi on NH27	DATIA	Regular	191	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1 219	Between KM Stone 125 to KM Stone 130 on Datia Seondha State Highway(SH19)	DATIA	Regular	125	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	Within 1 KM from Sardar Patel Chowk (Junction of Datia Bhander Road & Bhind Bhander Road ), Bhander towards Datia on Bhander Datia Road	DATIA	Regular	125	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
221	From KM stone 94 to 98 On Datia Seondha State Highway(SH19)	DATIA	Regular	158	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
222	Within 2 KMs from Hotel Ratan Royal Inn,Datia City towards Sri Rawatpura Sarkar Institute on Jhansi bypass Road	DATIA	Regular	127	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
223	Between KM Stone 204 to KM Stone 210 on NH-46 (AB Road)	GUNA	Regular	210	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
224	From Village Fatehgarh to village Kudka on SH54	GUNA	Regular	155	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
225	Between KM Stone 235 to 238 on NH-46	GUNA	Regular	210	OBC	CC	35	35	1225	32	12	Bidding	30	4
1 //6	Between KM Stone 213 to 223 on RHS while moving towards Biaora from Gwalior on NH46	GUNA	Regular	210	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
227	Between KM Stone 286 to KM Stone 293 on NH-46 on LHS while moving from Guna towards Indore	GUNA	Regular	197	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
228	Between KM Stone 253 to KM Stone 267 on NH-46	GUNA	Regular	200	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Leibe)	10 Draw of Lots/Bidding	11	12
229	From village Mohanpur(tehsil Kumbhraj) to village Sanai on SH 18	GUNA	Regular	156	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
230	Within Municipal limits of CHACHODA(not on NH/SH)	GUNA	Regular	124	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
231	Within 1 KM from Raghogarh Bus Stand towards Bharsoola Chauraha on road via ITI college Raghogarh	GUNA	Regular	124	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
232	From village Dharnawada to village Chainpura on SH-09	GUNA	Regular	149	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
233	From village Barod to village Budhana on SH 18	GUNA	Regular	106	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
234	Between KM stone 48 and 51 on SH 9 (Aron-Raghogarh highway)	GUNA	Regular	121	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
235	From village Vaneh to village Suhaya on SH 54	GUNA	Regular	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
236	Between Thatipur Chouraha and Baradari Chouraha on Gandhi Road	GWALIOR	Regular	175	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
237	Between KM Stone 21 to KM stone 26 on NH-44 (Rairu-Dabra Bypass)	GWALIOR	Regular	205	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
238	Between KM Stone 44 and 46 on NH-46	GWALIOR	Regular	205	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
239	Between km stone 5 to KM stone 7 on RHS while moving from rairu towards Dabra on NH44 (Rairu Dabra bypass)	GWALIOR	Regular	205	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
240	Within 1 KM from Gole Ka Mandir Chouraha towards Gwalior Airport on Airport road	GWALIOR	Regular	220	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
241	Between KM Stone 32 and 35 on NH-46	GWALIOR	Regular	200	OBC	СС	35	35	1225	32	12	Bidding	30	4
242	Itayal Tehsil Dabra On Chinour Road (Not on NH/SH)	GWALIOR	Regular	125	OPEN CC 2	DC	20	20	400	32	55	Draw of Lots	15	5
243	Naugaon on Gwalior-Chinour-Chimak Road (within Municipal limit of Gwalior)	GWALIOR	Regular	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
244	Within 2 KMs from Hazira Chowk towards Gole Ka Mandir Chouraha, Gwalior on JC Mill road	GWALIOR	Regular	163	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
245	Within 500 meters from R R Garden on Adityapuram road towards Adityapuram	GWALIOR	Regular	170	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
246	within 1 KM from Gol Pahariya Circle towards Laxmiganj on Laxmiganj Road	GWALIOR	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in Lothe )	10 Draw of Lots/Bidding	11	12
247	Between KM Stone 52 to KM Stone 58 on NH46	GWALIOR	Regular	205	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
248	From village Makoda to village Bajhera on NH44	GWALIOR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
249	Within Municipal limit of Bhitarwar (not on NH/SH)	GWALIOR	Regular	152	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
250	Between Hotel sita Manor and Raja Mansingh Tomar Statue on Gandhi road	GWALIOR	Regular	178	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
251	Within 1KM from Samrat Mihir Bhoj Chowk (on Shivpuri Link Road) towards Guda Gudi Ka Naka on Guda Gudi ka Naka Road	GWALIOR	Regular	162	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
252	From Badagaon Chowk to nagar Nigam Amrut Yojna Office on Outer Circular Road(Within Municipal limits of Gwalior)	GWALIOR	Regular	162	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
253	Within 4 KMs from Jaderua Dam view point tiraha towards Behta on Jaderua Dam-Behta road	GWALIOR	Regular	163	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
254	Within 4 KMs from Hotel Rituraj(Atal Dwar) towards transport nagar on motijheel road	GWALIOR	Regular	180	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
255	Within 2 KMs of Signature City Gate on NH44	GWALIOR	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
256	From village Chhapra to village Lidhoura on SH 2 (Pichhore Indergarh road)	GWALIOR	Regular	164	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
257	Within 3 KMs from Gajraja Square towards Cancer Hospital on Cancer hospital road	GWALIOR	Regular	163	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
258	Within Municipal Limits of Gwalior	GWALIOR	Regular	160	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
259	Within 2 KMs on either side from Malwa Institute Main gate on NH44	GWALIOR	Regular	161	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
260	Within 2 KMs from Dabra Mandi Road&Bujurg Road intersection,Dabra on old Gwalior -Jhansi Road(in tehsil Dabra)	GWALIOR	Regular	154	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
261	Within 1KM meter from Riwaaz Garden on Shivpuri-Link Road while moving towards Shivpuri from Gwalior	GWALIOR	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
262	From village Kerua to village Gohinda on Bhitarwar-Karera Road (SH-3)	GWALIOR	Regular	127	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in Locks.)	10 Draw of Lots/Bidding	11	12
263	Within 1 KM from Bhitarwar Police station on Bhitarwar State Highway	GWALIOR	Regular	121	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
264	Within 4 KMs from Mehra Toll Plaza on NH-44	GWALIOR	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
265	From village Barotha to village Jhadoli on Dabra-Bhitarwar Road (SH-51)	GWALIOR	Regular	120	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
266	From village Mohana to village Patai on SH-2A	GWALIOR	Regular	118	OPEN CC 2	DC	35	35	1225	32	75	Draw of Lots	15	5
267	From village Amroul to village Chinor on Gwalior-Chimak- Chinour state highway (SH-3)	GWALIOR	Regular	152	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
268	From village Temagaon to village Baharagaon on new NH47	HARDA	Regular	174	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
269	Between village Baharagaon and village Hardakhurd (excluding village Baharagaon but including village Hardakhurd) on new NH47	HARDA	Regular	163	OPEN	СС	35	35	1225	32	12	Bidding	30	5
270	From village Pokharni (tehsil Khirkiya) to village Chhipabad on Harda Khandwa highway	HARDA	Regular	122	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
271	Between village Hardakhurd and village Abgaon Kalan (excluding village Hardakhurd but including village Abgaon Kalan) on new NH47	HARDA	Regular	165	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
272	Within Municipal limits of Harda (Not on SH/NH)	HARDA	Regular	122	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
273	Between village Abgaon Kalan and village Bagrul (excluding village Abgaon Kalan but including village Bagrul) on new NH47	HARDA	Regular	166	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
274	Between KM stone 340 and 345 on NH 552 E (MS Road)	MORENA	Regular	168	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
275	Within 2 KMs from Government PG College,Morena on LHS while going from Morena to Joura on NH 552E (Within Municipal Limit of Morena)	MORENA	Regular	169	OBC	DC	30	30	900	32	95	Draw of Lots	15	4
276	Within Municipal Limit of Kailaras Town, On NH 552 E (MS Road)	MORENA	Regular	163	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
277	Morenagaon (Within Municipal Limit of Morena & not on NH/SH)	MORENA	Regular	160	OBC	DC	20	20	400	32	55	Draw of Lots	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimens f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Labs)	10 Draw of Lots/Bidding	11	12
278	Between KM Stone 36 to KM stone 38 on NH 44	MORENA	Regular	210	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
279	From village Tentara to village Mangrol on NH 552 E (MS Road)	MORENA	Regular	169	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
280	From K.S. Mills, Morena City to Hotel Indralok Palace on RHS while moving towards Dholpur from Morena, on NH 44	MORENA	Regular	174	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
281	Between KM Stone 324 to KM Stone 328 on MS Road NH 552 E	MORENA	Regular	163	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
282	From Hotel Indralok Palace to Eco park deori on NH44 , on LHS while moving from Morena to Dholpur, DISTRICT MORENA	MORENA	Regular	205	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
283	Between KM stone 12 and 15 on NH-552 E, On RHS while going from Morena to Ambah	MORENA	Regular	174	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
284	From km stone 7 to km stone 10 on LHS while moving from Morena to Dabra on rairu-dabra bypass on NH-44	MORENA	Regular	200	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1 795	Between KM stone 293 and 298 on Sabalgarh Morena NH 552 E	MORENA	Regular	161	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
286	Within Municipal Limit of Sabalgarh Town, On NH 552 E (MS Road)	MORENA	Regular	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
287	Within 5 KMs from Police Station Saray Chola, Dist- Morena on NH-44	MORENA	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
288	From Ramprasad Bismil Chauraha,Morena City to MS Road junction on Narua Road	MORENA	Regular	119	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
289	Within 1 KM from Pahadgarh Road tiraha(junction of NH552E & Kailaras Pahadgarh road) towards Pahadgarh on Kailaras Pahadgarh Road via Krishi Upaj mandi	MORENA	Regular	111	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
1 790	From New Sabji Mandi Gate,Morena City to Morena Ambah Bypass Road junction, On Sabji Mandi Road	MORENA	Regular	134	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
291	Village Phoolpur on Bamor Phoolpur Road	MORENA	Regular	118	OBC	DC	20	20	400	32	55	Draw of Lots	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area d	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lobe )	10 Draw of Lots/Bidding	11	12
292	Within 2 KMs from Badokhar Chauraha,Morena City On Nande ka pura Road	MORENA	Regular	122	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
293	From Sri Ram Mandir to Krishi Mandi, On Sabalgarh Sunhera Road , Within Municipal limit of Sabalgarh Town	MORENA	Regular	126	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
294	Within 1 km of Jawahar Navodaya Vidhyalaya Main gate,Joura On Joura Pagara Road	MORENA	Regular	124	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
295	Within 3 KMs From Sikarpur Railway Crossing, On Sikarpur phatak Bichola Road	MORENA	Regular	126	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
296	From Police Thana Civil line, Morena to Sikarpur Railway crossing on Sikarpur Road	MORENA	Regular	135	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
297	Between KM stone 470 and 479 on NH-46	NARMADAPURAM	Regular	163	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
298	Within Municipal Limits of Seoni Malwa(not on NH/SH)	NARMADAPURAM	Regular	154	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
299	From village Ankhmau(tehsil Makhan nagar) to village Bamhori Kalan(tehsil Makhan nagar) on Narmadapuram Pipariya highway	NARMADAPURAM	Regular	102	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
300	Between KM stone 490 and 495 on LHS while moving from Narmadapuram to Betul on NH-46	NARMADAPURAM	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
301	Seoni Malwa Bypass On Narmadapuram-Harda Highway	NARMADAPURAM	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
302	Between KM stone 480 and 488 on NH-46	NARMADAPURAM	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
303	From village Rampur(tehsil Pipariya) to village Bachavani on Pipariya Gadarwada highway	NARMADAPURAM	Regular	118	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
304	Within Municipal limits of pipariya (not on NH/SH)	NARMADAPURAM	Regular	123	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
305	From village Lamta(tehsil Bankhedi) to village Malhanwada (tehsil Bankhedi) on Pipariya Gadarwada highway	NARMADAPURAM	Regular	122	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
306	Within Municipal limits of Pipariya (On highway)	NARMADAPURAM	Regular	125	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
307	From village Searmau to village Sultanganj on State Highway	RAISEN	Regular	125	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
308	Within 15 KMs from Midaway Treat Sultanpur jod towards Badi on NH 45	RAISEN	Regular	183	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Leites)	10 Draw of Lots/Bidding	11	12
	From Village Samnapur Jagir to Junction of Baraily -Pipariya SH & NH45(at Baraily Bypass) on NH45 (Obedullaganj Jablapur Highway)	RAISEN	Regular	210	OPEN	СС	35	35	1225	32	12	Bidding	30	5
310	Between KM Stone 164 and 173 on LHS side while travelling towards Goharganj from Jabalpur on NH45	RAISEN	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
311	Between Boras Road Chouraha,Udaipura to village Deori on NH-45 on Left hand Side while moving towards Deori from Udaipura	RAISEN	Regular	169	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1 317	Within 2.5 KM from Hotel GK Palace(Baraily-Piparia Road) towards Baraily on SH 62	RAISEN	Regular	190	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
313	Within 3 KMs from Sehatganj Toll Plaza towards Bhopal on NH146 (Bhopal Sagar road)	RAISEN	Regular	158	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
314	Within 14 KMs from Silwani Chouraha towards Gairatganj on SH 62	RAISEN	Regular	180	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
315	Within 4 KMs from Silwani Chouraha on SH 20	RAISEN	Regular	157	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
316	Within Municipal limits of Baraily (Not on NH/SH)	RAISEN	Regular	190	OBC PH	DC	20	20	400	32	55	Draw of Lots	15	4
317	Within 5 KMs from Boras Road Chouraha,Udaipura Towards Gadarwada on SH 20	RAISEN	Regular	162	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
318	From village Aliganj to village Nayagaon Kala on Baraily Pipariya SH- 62	RAISEN	Regular	135	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
319	From Titli Park Main gate to village Dhakna Chapna on NH146 ( Raisen Sanchi road)	RAISEN	Regular	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
320	Between KM Stone 175 and KM Stone 189 on NH45	RAISEN	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
321	From Panchmukhi Hanuman mandir,Udaipura to village Chandan Pipaliya on SH 20	RAISEN	Regular	128	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
322	Within 2 KMs from Gyanodaya teerth Dham towards Salamatpur on Bhopal- Salamatpur highway	RAISEN	Regular	151	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
323	Within Municipal limits Limits of Silwani on Silwani-Noorpura Road	RAISEN	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lates)	10 Draw of Lots/Bidding	11	12
324	Within 3 KMs from Raisen Main Market Junction towards Sanchi via District Collectorate Raisen	RAISEN	Regular	153	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
325	From Badi Bypass NH45 Junction to village Digwad on SH 29 C	RAISEN	Regular	157	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
326	With in Municipal Limits of Mandideep on NH 46	RAISEN	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
327	Between NH45-Bakhtara Road Junction, at Badi and Midway Treat Samnapur on NH-45 on RHS while moving towards Baraily from Badi	RAISEN	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
328	From village Chunhetiya to village Noniya Bareli on SH22	RAISEN	Regular	114	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
329	Within 9 KMs from Nakhtara junction towards Sultanpur on SH 29 B	RAISEN	Regular	128	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
330	Within 7 KMs from Police Station, Bamohri towards Silwani (on SH- 62)	RAISEN	Regular	125	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
331	WIthin 8 KMs from Bhawani Chowk Bus stand,village Tulsipar on SH 30 (Begumganj-Sultanganj Highway)	RAISEN	Regular	119	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	Between KM Stone 425 to 440 on NH46	RAISEN	Regular	165	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
333	With in 10 KMs from Gairatganj Silwani Junction on Raisen Sagar Road towards Silwani on SH62	RAISEN	Regular	152	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
334	Within municipal limits of Biaora on NH752B	RAJGARH	Regular	174	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
335	Between KM Stone 312 to 314 on NH 46 on Left Hand Side while going to Bhopal from Gwalior	RAJGARH	Regular	330	OPEN	CC	35	35	1225	32	12	Bidding	30	5
336	Between KM Stone No. 323 to 331 on NH 46 on Right Hand Side while moving towards Bhopal from Gwalior	RAJGARH	Regular	167	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
337	Between KM Stone No. 460 to 464 on NH 52 Right Hand Side while moving towards Biaora from Rajgarh	RAJGARH	Regular	161	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
338	From village Mau(tehsil Sarangpur) to village Dhanora(tehsil Sarangpur) on NH 52 Right Hand Side While moving towards Indore from Biaora	RAJGARH	Regular	172	OPEN	СС	35	35	1225	32	12	Bidding	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Leites)	10 Draw of Lots/Bidding	11	12
339	From village Madhopra to village Karanwas on NH 52 Left Hand Side While moving towards Pachore from Biaora	RAJGARH	Regular	175	OPEN	сс	35	35	1225	32	12	Bidding	30	5
340	Between KM Stone 440 to 443 on NH 52 on Left Hand Side while Moving towards Biaora from Khilchipur	RAJGARH	Regular	172	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
341	From village Karanwas to village Saredi (Tehsil Pachore) on NH 52 Right Hand Side While moving towards Indore from Biaora	RAJGARH	Regular	172	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
342	Between KM Stone No. 347 to 357 on NH 46	RAJGARH	Regular	164	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
343	From village Haripura( Tehsil Zirapur) to village Naiheda(Tehsil Zirapur) on NH 752B	RAJGARH	Regular	181	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
344	Between KM Stone No. 319 to 329 on NH 46 on Left Hand Side while moving towards Bhopal from Gwalior	RAJGARH	Regular	169	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
345	Between KM Stone No. 295 to 303 on NH 46 Right Hand Side while moving towards Bhopal from Gwalior	RAJGARH	Regular	173	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
346	Between KM Stone No. 362 to 370 on NH 46 on Left Hand Side while moving towards Bhopal from Gwalior	RAJGARH	Regular	171	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
347	Between KM Stome 21 to 23 on NH 752B on Right Hand Side while moving towards Suthaliya from Biaora	RAJGARH	Regular	171	OPEN	СС	35	35	1225	32	12	Bidding	30	5
348	Within Municipal Limit of Narsingarh (not on NH/SH)	RAJGARH	Regular	129	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
349	Within Municipal limits of Pachore (On National Highway)	RAJGARH	Regular	168	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
350	Between KM Stone No. 331 to 334 on NH 46 on Left Hand Side while moving towards Bhopal from Gwalior	RAJGARH	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
351	From village Piplya Deo to village Mau on NH 52 on Left Hand Side While moving towards Indore from Biaora	RAJGARH	Regular	165	OPEN	СС	35	35	1225	32	12	Bidding	30	5
352	Between KM Stone No. 420 to 435 on NH 52	RAJGARH	Regular	173	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
353	From village Taleni (tehsil Sarangpur) to village Ahsanpura (tehsil Sarangpur) on NH52	RAJGARH	Regular	176	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
354	Within 3 KMs from Sarangpur Railway Station entrance on Sarangpur railway station to bus stand road(Not on NH/SH)	RAJGARH	Regular	112	OBC	DC	20	20	400	32	55	Draw of Lots	15	4

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Madhya Pradesh, as per following details
--

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Labe )	10 Draw of Lots/Bidding	11	12
355	Viillage Nipaniya Bika (Tehsil Sarangpur) to Village Jatamadi (tehsil Khilchipur) on NH 752 C	RAJGARH	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
356	Between Jama Masjid Biaora and Akhand Paramdham Ashram on old AB road (within Municipal Limit Biaora)	RAJGARH	Regular	147	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
357	From Village Khaikheda to village Sikandarganj(Tehsil Shyampur) on Bhojapura- Khaikheda Road(NH346)	SEHORE	Regular	168	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
358	From village Itawa Kalan to village Gopalpur (tehsil Bhairunda(Nasrullaganj)) on Nasrullaganj Sandalpur highway	SEHORE	Regular	162	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
359	From village Pipal kheda to village Ahmadpur on Highway (NH346)	SEHORE	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
360	Between KM Stone No. 70 and 78 on Bhopal Indore Road	SEHORE	Regular	154	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
361	WITHIN 3 KMs from vardhman Fabrics gate,Budhni on NH146 B	SEHORE	Regular	158	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
362	Between KM Stone no. 50 AND 52 on Bhopal Indore road on LHS while moving towards Indore from Bhopal	SEHORE	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
363	Within 3 KMs from Ashta bypass chaupati, on Indore Bhopal road	SEHORE	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	Between KM Stone no. 50 AND 52 on Bhopal Indore road on LHS while moving towards Bhopal from Indore	SEHORE	Regular	152	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
365	Within Municipal Limits of Ashta on Ashta-Kannod Highway	SEHORE	Regular	125	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
366	Between KM Stone no. 85 and KM Stone no. 90 on Indore Bhopal road	SEHORE	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
367	Between Sri Satyasai University,Sehore to Phanda Toll Plaza on old Indore Bhopal Road(in Sehore District only)	SEHORE	Regular	135	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
368	From MPT Highway Treat, Dodi to Village Semlibari on Bhopal- Indore highway on left hand side while moving towards Indore from Bhopal	SEHORE	Regular	110	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area d	m Dimens If the site (			be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in Laths)	10 Draw of Lots/Bidding	11	12
369	From Janpad Karyalaya gate , Sehore to Silo Chouraha, Sehore on road via Sehore Mandi	SEHORE	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
370	Within 3 KMs from Shahganj Square on Shahganj Barkheda state highway	SEHORE	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
371	Village Birpur tehsil Birpur on NH552 Ext	SHEOPUR	Regular	162	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
372	Within 2 KMs from Police Station, Gaswani towards Vijaypur on Vijaypur-Mohana Highway	SHEOPUR	Regular	133	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
373	Between KM stone 221 and 225 on NH552 Ext.	SHEOPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
374	Within 2 KMs from Jaida Tiraha towards Premsar	SHEOPUR	Regular	127	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
375	Village Nagda (in Municipal Limits of Sheopur)	SHEOPUR	Regular	112	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
376	Village Shyampur tehsil Birpur on NH 552 Ext.	SHEOPUR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
377	Within 2 KMs from Agra tiraha on SH50 towards mohna	SHEOPUR	Regular	168	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
378	Between KM Stone 123 to 126 on NH46	SHIVPURI	Regular	205	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
379	Between KM Stone 86 to KM Stone 96 on NH-46	SHIVPURI	Regular	205	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
380	From village Ishwari to village Atalpur on RHS while moving from Shivpuri to Guna on NH46	SHIVPURI	Regular	205	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
381	Between KM Stone 134 to 139 on RHS while moving from Gwalior to Guna on NH46	SHIVPURI	Regular	200	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
382	From Ramnagar Toll Plaza to village Deharwara on NH27	SHIVPURI	Regular	162	OPEN	CC	35	35	1225	32	12	Bidding	30	5
383	Within Municipal Limits of Kolaras (Not on SH/NH)	SHIVPURI	Regular	158	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
384	Within KM Stone 172 to 176 on NH46	SHIVPURI	Regular	205	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
385	From village Dinara to village Barkuwa on NH27	SHIVPURI	Regular	172	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
386	Within 1 KM from Shivpuri Public School towards Ambedkar park on road via Saraswati Vidyapeeth	SHIVPURI	Regular	122	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
387	Within 5 KMs from Kendriya Vidyalaya, Karera towards Bhitarwar on karera-Bhitarwar State Highway road	SHIVPURI	Regular	122	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
388	Within 4 KMs from Jhansi tiraha(in Shivpuri) towards jhansi	SHIVPURI	Regular	161	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
389	Within Municipal limits of Karera (Not on NH/SH)	SHIVPURI	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o		•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Labe )	10 Draw of Lots/Bidding	11	12
390	From village-Ramnagar gadhai to village- Hajinagar on Karera - Bhitarwar State Highway Road	SHIVPURI	Regular	164	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
391	Within 1 KM from Pitalmeel chouraha towards Sagar on Sagar Road(Within Municipal limits of Vidisha)	VIDISHA	Regular	210	OPEN	сс	20	20	400	32	12	Bidding	30	5
392	Within 3 KMs on either Side of Murwas Police Thana On NH 752B	VIDISHA	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
393	From village Bagri to village Bilori on NH 346	VIDISHA	Regular	230	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
394	Within municipal limits of Vidisha (Not on NH/SH)	VIDISHA	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
395	Within 2 KMs from Veer Durgadas Rathore Chauraha towards Bhopal on LHS on Vidisha NH Bypass (NH146)	VIDISHA	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
396	Within municipal limits of Ganjbasoda(Not on NH/SH)	VIDISHA	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
397	From Veer Durgadas Rathore Chouraha to KML Vatsalya college on Raisen/sothia road (Within municipal limits of Vidisha)	VIDISHA	Regular	165	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
398	Within 2 KMs from Nasia Ji Temple on Sironj ByPass State Highway	VIDISHA	Regular	165	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
399	From village Madhipur to village Rampur Chak Patni on NH 146	VIDISHA	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
400	Within 3 KMs from Bagrod Chouraha on NH146	VIDISHA	Regular	170	OPEN	CC	35	35	1225	32	12	Bidding	30	5
401	Within municipal limits of Nateran(Not on NH/SH)	VIDISHA	Regular	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
402	Within 5 KMs from Karariya Chouraha towards Mehlua on NH-346	VIDISHA	Regular	162	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
403	Within 2KMs of Govt model HSS , Ganj Basoda towards Ganj Basoda,Tehsil Basoda	VIDISHA	Regular	125	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
404	Within 2KMs from Pitalmeel Chouraha towards Ahmadpur on Vidisha- Ahmadpur Road	VIDISHA	Regular	160	ОВС РН	DC	20	20	400	32	55	Draw of Lots	15	4
405	Within 5KM from NH752B and SH10 junction at Sironj towards Lateri on NH752B	VIDISHA	Regular	175	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #		Type of Site *	Minimu M.)/Area o		•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lakes)	10 Draw of Lots/Bidding	11	12
406	From Ambanagar Chouraha to village Chak Masoodpur on NH346	VIDISHA	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
407	From village Rusiya(Tehsil Lateri) to village Pipalkheda(Tehsil Sironj) on NH752B	VIDISHA	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
408	From Village Sarai to Village Tarang on NH-543 Shahdol Pandariya Road	ANUPPUR	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
409	Within Nagar Palika parishad limit of Anuppur (Not on NH/SH)	ANUPPUR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
410	Within Nagar palika limit of Kotma (Not on NH/SH)	ANUPPUR	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
411	Within 4 Km from Thana Gramin Balaghat towards Gondiya on NH543	BALAGHAT	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
412	Within 5 Km from Radhaswami Satsang Hall towards Gondiya on Balaghat Gondiya Road (NH543)	BALAGHAT	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
413	Within Nagar Parishad Limit of Katangi on old Seoni Katangi Nandi Road	BALAGHAT	Regular	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
414	Within 3 KM towards Rajegaon from Saleteka Chouraha on NH543	BALAGHAT	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
415	Within 6 Km from Samnapur Railway crossing towards Lamta on NH543 (Balaghat Lamta Road)	BALAGHAT	Regular	170	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
416	Between KM stone 78 to 81 On Balaghat -Lalburra Road SH 72	BALAGHAT	Regular	155	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
417	Between Km stone no 63 to 67 on Parsatola Baihar Road	BALAGHAT	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
418	Within 5 Km from Garra Chowki towards Rampayli on SH48 (Rampayli Garra chowki Road)	BALAGHAT	Regular	110	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
419	Within 5 Km towards Rajegaon from Railway crossing Sarekha Bypass gate on Balaghat Rajegaon Road(NH543)	BALAGHAT	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
420	Within 4 Km from Gram Panchayat Bhawan Pachpedi on Lamta-Nainpur Road(on NH543)	BALAGHAT	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi If the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in Labbe)	10 Draw of Lots/Bidding	11	12
421	Between KM stone 52 to 56 on Lalburra-Barghat Road (SH72)	BALAGHAT	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
422	Within Nagar Parishad Limit of Waraseoni on Balaghat- Waraseoni-Katangi road	BALAGHAT	Regular	135	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
423	Within 5 KM from Railway crossing Balaghat towards Ukwa on Balaghat Ukwa road	BALAGHAT	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
424	Within 5 Km towards Lamta from Bhatera Railway crossing Balaghat on NH543 (Balaghat Lamta Road)	BALAGHAT	Regular	185	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
425	Within Nagar Palika Limit of Balaghat (Not on NH/SH )	BALAGHAT	Regular	150	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
426	Between KM stone no 138 to KM stone no 142 on NH34 on LHS while going from Gulganj to Chhatarpur	CHHATARPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
427	Within 2 KM from Basantpur Tiraha, on Luvkushnagar to chandla Road	CHHATARPUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
428	Within 2 KM of Community health center hospital on Bada Malhera to Bhagwa road , District Chhatarpur	CHHATARPUR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
429	Within 3 KM from Bhagwa Tigadda(Ghuwara) towards Badagaon on NH539	CHHATARPUR	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
430	Between KM stone no 97 to KM stone no 103 on NH34	CHHATARPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
431	Between Chhatrasal Chowk to gate of Rudraksh hotel, Chhatarpur	CHHATARPUR	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
432	Within Nagar palika limit of Chhatarpur (Not on NH/SH)	CHHATARPUR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
433	Within 2 KM from Rambagh chauraha on Rajnagar to Ganj road on MDR (MP MDR 35-02)	CHHATARPUR	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
434	Within in 3 KM from police station Maharajpur towards luvkush nagar on SH12	CHHATARPUR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
435	Within 4 KM from chandla bus stand gate on Laundi - Chandla Road	CHHATARPUR	Regular	110	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
436	Between KM stone no 129 to KM stone no 135 on NH39	CHHATARPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•	9a 9b		Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	Estimated working capital	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Labe)	10 Draw of Lots/Bidding	11	12
437	From village Jhamtuli to village Amroniya on Dewra to Ganj Road , SH-5	CHHATARPUR	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
438	Within 3 KM from Bijawar main chauraha towards Matguwan on Bijawar to Matguwan road	CHHATARPUR	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
439	From ELC chowk to Imlikheda chowk on RHS within Nagar Palika Nigam of Chhindwara	CHHINDWARA	Regular	289	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
440	Between KM stone No 58 to 62 on Chaurai- Chand State Highway Raod	CHHINDWARA	Regular	114	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
441	From Km Stone 84 to 88 on Bhopal Nagpur National Highway via Betul RHS while going towards Nagpur from Betul	CHHINDWARA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
442	From ELC chowk to Imlikheda chowk on LHS within Nagar Palika Nigam of Chhindwara	CHHINDWARA	Regular	289	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
443	Within 3 KM of Govt D.P.M. higher Secondary school Jhilmili on NH 347	CHHINDWARA	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
444	Within 5 Km from Raymond Chowk, Borgaon, towards Chhindwara on NH 547	CHHINDWARA	Regular	203	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
445	Between KM Stone 116 to 120 on NH 547	CHHINDWARA	Regular	203	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
446	Within 2Km from Simariya Hanuman Mandir on NH 547	CHHINDWARA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
447	Within 3KM from Great way public School, Ambada towards junnardeo on Parasia-Sarini State Highway	CHHINDWARA	Regular	121	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
448	Within 2KM from Rani Durgawati Chowk within munciapal limit of Chhindwara	CHHINDWARA	Regular	177	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
449	Within 3Km from Bijori Tiraha towards chindi on SH	CHHINDWARA	Regular	101	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
450	Between KM stone 27 to 31 on NH 547	CHHINDWARA	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
451	Within 2 KM from collector bunglow Chhindwara towards Village Guraiya( Within Nagar Palika Limi of Chhindwara)	CHHINDWARA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Madhya Pradesh, as per following details:
---

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Leibe)	10 Draw of Lots/Bidding	11	12
452	Between KM stone 110 to 114 on Bhopal Nagpur National Highway via Betul RHS while going towards Nagpur from betul	CHHINDWARA	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
453	Within 5 KM from Chhindwara Ring road circle towards nagpur on NH 547	CHHINDWARA	Regular	191	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1 454 1	WITHIN 2 KM FROM main gate of Kendriya Vidyalaya CHAURAI on NH 347	CHHINDWARA	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
455	Within 3 KM from Govt Higher Secondary school Rampur on State Highway	CHHINDWARA	Regular	174	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
456	Within 4 KM from main gate of Hindustan Unilever Limited factory Towards Chindwara , Within Nagar Palika limit of Chhindwara	CHHINDWARA	Regular	102	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
457	Village Pandajhir, on Patan Tendukhera SH	DAMOH	Regular	100	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
458	Village Sukhi Pipariya on Damoh Chhatarpur National Highway	DAMOH	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
459	Within 3 Km from PGCIL office Damoh on RHS while going towards Sagar from PGCIL Office on Damoh Sagar State Highway	DAMOH	Regular	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1 460	Within 5 Km on RHS from Police Station Gaisabad towards Hatta on Hatta Panna State Highway	DAMOH	Regular	102	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
461	Within 3 Km from PGCIL office Damoh on LHS while going towards Sagar from PGCIL Office on Damoh Sagar State Highway	DAMOH	Regular	127	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
462	Between Mycem Cement plant and Hatta Naka Damoh on National Highway	DAMOH	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
463	Within 3 Km from Junction of Sagar -Damoh Road and Damoh Bypass towards Jabalpur on Damoh Bypass	DAMOH	Regular	100	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
	Within Nagar Parishad Limit of Patharia (Not on NH/SH)	DAMOH	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in	10 Draw of Lots/Bidding	11	12
465	Within 5 Km from Gangajamuna Dharmkanta towards Jabalpur on Damoh - Jabalpur State Highway	DAMOH	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
466	Within 5 Km on LHS from Police Station Gaisabad towards Hatta on Hatta Panna State Highway	DAMOH	Regular	121	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
467	Within 3 Km from Gangajamuna Dharmkanta towards Sagar on Damoh Bypass,Damoh	DAMOH	Regular	125	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
468	Within Nagar Parishad Limit of Shahpura (Not on NH/SH)	DINDORI	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
469	WIthin 5 Km from Mandla Bus stand Dindori towards Mandla on Dindori Mandla Road	DINDORI	Regular	210	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
470	Within 5 Kms from SBI Gadsarai Mal on NH45E (Dindori- Amarkantak road)	DINDORI	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
471	Within 3 Km From Punjab National Bank Karanjiya on NH45E	DINDORI	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
472	From Village Sakka Mal to Village Kisalpuri Mal on NH543 (Mandla-Dindori road)	DINDORI	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
473	Between Sagar Tola chouraha and Narmada bridge chandan Ghat on Nh 543 Dindori-Shahdol Road.	DINDORI	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
474	From Village Samnapur to Village Sundarpur Ryt. on Dindori Bichhiya Road	DINDORI	Regular	155	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
475	Between KM stone No 110 to 116 on NH45E(Jabalpur- Dindori Road)	DINDORI	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
476	Between KM stone No 123 to 128 on NH45E (Jabalpur- Dindori Road)	DINDORI	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
477	Within Municipal Limit of Sihora (Not on NH/SH)	JABALPUR	Regular	140	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
478	Within 3 KM from Andhmukh Chouraha towards Bhopal on NH 45 on LHS while going to Bhopal from Jabalpur	JABALPUR	Regular	215	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
479	Within Nagar Parishad limit of Bhedaghat (not on NH/SH)	JABALPUR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
	Within 5 KM from Andhmukh Chauraha towards Nagpur on RHS on Jabalpur bypass Road (NH 30 )while going to Nagpur from Jabalpur	JABALPUR	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•	Finance to be arranged by the applicant		Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lates)	10 Draw of Lots/Bidding	11	12
481	Between KM Stone No. 85 to KM Stone No. 90 on Sihora- Bohriband SH 23.	JABALPUR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
482	Within 3 KM from Andhmukh Chouraha towards Bhopal on NH 45 on RHS while going to Bhopal from Jabalpur	JABALPUR	Regular	204	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
483	Between KM Stone No. 860 to KM Stone No. 870 on RHS on NH 30 while going towards Jabalpur from Katni	JABALPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
484	Between KM Stone no 818 to 822 on RHS on NH 30 while going towards Jabalpur from Katni	JABALPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
485	Within 5 KM from Andhmukh Chauraha towards Nagpur on LHS on Jabalpur bypass Road NH 30 while going to nagpur from Jabalpur	JABALPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
486	From Shartri Bridge Chouraha to Sahil Honda Showroom near 4th Bridge via Jabalpur Hospital & Research Centre	JABALPUR	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
487	Between KM Stone No. 1364 to KM Stone No. 1369 on LHS on NH 34 while going towards Lakhnadon from Jabalpur	JABALPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
488	Between KM Stone No. 1359 to KM Stone No. 1361 on LHS on NH 34 while going towards Lakhnadon from Jabalpur	JABALPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
489	From Baldev Bagh Chok to Ukhri Tiraha on Ukhri Road	JABALPUR	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
490	From South Avenue Mall to Gate of Government Autonomous Ayurvedic College and Hospital on Gwari Ghat Railway Station Road	JABALPUR	Regular	155	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
491	Within 2 KM from Police Station Tilwara towards Tilwara Ghat, JABALPUR	JABALPUR	Regular	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
492	Between Police Station Tilwara to Police Station Garha via subhash Chandra Bose chowk on Tilwara Ghat Road, Jabalpur	JABALPUR	Regular	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
493	From Gulaua chowk to Imarti Talab , Jabalpur	JABALPUR	Regular	170	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
494	Between Km stone No 50 to 60 on NH45 on LHS while going towards Bhopal from Jabalpur	JABALPUR	Regular	172	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•	Finance to be arranged by the applicant		Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimateu fund required for developmen t of infrastructu re at RO (Rs. in	10 Draw of Lots/Bidding	11	12
1 495 1	Between Km stone No 55 to 60 on NH45 on RHS whille going towards Bhopal from Jabalpur	JABALPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
496	Within 4 KM of Gohalpur Police Station towards Khirkiya Khurd on Amkhera Road	JABALPUR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
497	From village Nunsar to Village Udana on Jabalpur- Patan Road	JABALPUR	Regular	118	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
498	Between KM Stone No. 829 to KM Stone No. 839 on RHS on NH 30 while going towards Jabalpur from Katni	JABALPUR	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
499	Between KM Stone No. 846 to KM Stone No. 855 on NH 30 on LHS while going towards Jabalpur from Katni	JABALPUR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
500	Between KM Stone No 861 to 865 on NH 30 on LHS while going towards Jabalpur from Katni	JABALPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
501	From Main gate of RTO Jabalpur to Deen Dayal Chowk (ISBT)	JABALPUR	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
502	From Deen Dayal Chowk (ISBT) to Damoh Naka Chowk, Jabalpur city	JABALPUR	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
503	From Km stone no 22 to 28 on NH 45 on RHS whille going towards Bhopal from Jabalpur	JABALPUR	Regular	152	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
504	From Km stone no 30 to 36 on NH 45 on LHS whille going towards Bhopal from Jabalpur	JABALPUR	Regular	155	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
505	From Km stone no 30 to 36 on NH 45 on RHS whille going towards Bhopal from Jabalpur	JABALPUR	Regular	182	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
506	Between KM Stone No. 850 to KM Stone No. 860 on RHS on NH 30 while going towards Jabalpur from Katni	JABALPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
507	Between KM Stone no 28 to 41 on NH 45E	JABALPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
508	Within 2 KM from Main gate of RTO Jabalpur towards Patan on Jabalpur Patan Road	JABALPUR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
509	Within JDA Scheme No 64 on 48 meter wide Road, Jabalpur	JABALPUR	Regular	160	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
510	From Adi Shankracharya Square to South Avenue Mall on Narmada Gwarighat Road	JABALPUR	Regular	174	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimens f the site (	•	Finance to be arranged by the applicant		Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Leibe.)	10 Draw of Lots/Bidding	11	12
511	Within 3 KM from Hanuman Mandir, Muhas towards Rithi on SH road	KATNI	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
512	Between Km Stone No. 25 to 30 on NH-43	KATNI	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
513	From Village Kuwan to village Khadra on SH-23(Including village-Kuwan and Khadra)	KATNI	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
514	Within 2 km from Calderys India Refractory Gate, Madhavnagar, Within Municipal Limit of Katni	KATNI	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
515	Between Km Stone No. 793 to 810 on NH30 Left Hand Side while going from Katni to Jabalpur	KATNI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
516	From Village Sunhara to Village Basadi, Tehsil- Badwara(including village-Sunhara and Basadi) on SH-63	KATNI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
517	Between Km Stone No. 769 to 774 on NH30 on Right Hand Side while going towards Jabalpur from Katni	KATNI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
518	Village Itora on Barhi to Maihar Road on SH-6	KATNI	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
519	From Village Katara to Village Barhi on SH-23	KATNI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
520	Within 2 Kms from Civil court, Barhi on State highway Road	KATNI	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
521	Mandla Bypass on NH 30	MANDLA	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
522	Between KM stone 68 to 73 on Mandla Ghansore State Highway	MANDLA	Regular	125	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
523	Between KM stone 30 to 33 on Foolsagar Niwas road (SH33)	MANDLA	Regular	135	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
524	Within 4 Kms from Kingfisher Multiplex towards village Purwa on NH543	MANDLA	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
525	Within Nagar Palika Parishad Limit of Nainpur (Not on NH/SH)	MANDLA	Regular	140	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
526	Within 2 km from Govt. ITI Mandla on Mandla Dindori road( on NH543)	MANDLA	Regular	185	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
527	From Village Ghutas to Village Mohgaon Ryt. on Bichhiya Dindori Road	MANDLA	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
528	Within Nagar Parishad Limit of Mandla (Not on NH/SH)	MANDLA	Regular	140	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimum Dimension (in M.)/Area of the site (in Sq. M.)			Finance to be arranged by the applicant		Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in	10 Draw of Lots/Bidding	11	12
529	Within 2 KM From Narmada Sugar Factory, Gadarwara on SH	NARSINGHPUR	Regular	113	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
530	Within 3 Km From Maharana Pratap Government post graduate college, Gadarawara bypass on State highway	NARSINGHPUR	Regular	113	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
531	Within 8 KM from Rajmarg Chouraha towards Jabalpur on Jabalpur-Bhopal national highway(NH 45)	NARSINGHPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
532	Within Nagar Praishad Limit of Kareli (Not on NH/SH)	NARSINGHPUR	Regular	100	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
533	Within 10 Km from Rajmarg Chouraha on NH 45 towards Bhopal on RHS while going to Bhopal from Rajmarg Chouraha.	NARSINGHPUR	Regular	150	SC	CFS	35	35	1225	0	о	Draw of Lots	0	3
534	Within 7 KM from Rajmarg Chouraha on NH 44 on LHS while Going towards Sagar from Rajmarg chouraha	NARSINGHPUR	Regular	168	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
535	Within Nagar Palika limit of Narsinghpur(not on NH/SH)	NARSINGHPUR	Regular	105	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
536	Within Nagar Parishad limit of Tendukheda( Not on NH/SH)	NARSINGHPUR	Regular	112	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
537	Between Km stone no 358 to 364 on NH44	NARSINGHPUR	Regular	165	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
538	Between km Stone No 348 and 352 on NH-44	NARSINGHPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
539	Within 10 Km from Rajmarg Chouraha on NH 45 towards Bhopal on LHS while going to Bhopal from Rajmarg Chouraha.	NARSINGHPUR	Regular	164	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
540	BETWEEN KM STONE NO 370 TO 375 ON LHS on NH-44 WHILE GOING towards Lakhnadon from Nagsinghpur.	NARSINGHPUR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
541	Village chirpura on NH-539 on Jhansi Tikamgarh Road	NIWARI	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
542	Between Km stone No.50 to 55 on SH-55	PANNA	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
543	Within 2 Km from main gate of Bus Stand Panna ( Not on NH/SH )	PANNA	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
544	Between Km stone No 20 to 28 on SH-55	PANNA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
545	Within 5 Km from Gate of Electrical Power House Saleha on NH-943	PANNA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
546	From Village Shahnagar to Village Shikarpura on NH-43	PANNA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•	Finance to be arranged by the applicant		Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lates)	10 Draw of Lots/Bidding	11	12
547	From Village Tara to Village Akola(including villageTara and Akola) on SH-55	PANNA	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
548	Within 5 Km from Raipura Tigadda towards Damoh on SH-63	PANNA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
549	Between KM stone no 94 to 98 on NH 30	REWA	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
550	Within 2km from Shashkiya Purva Madhyamika Vidyalaya, Dihiya on Katra Mauganj Road (SH - 24)	REWA	Regular	101	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
551	From Lalgaon chauraha to Village Chiyar on NH 135 BD	REWA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
552	Between KM stone No 5 to KM stone No 9 on NH135B	REWA	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
553	Within Nagar Parishad Limit of Mauganj (not on NH/SH )	REWA	Regular	117	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
554	From Sirmour Chowk to Itaura on NH 135B	REWA	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
555	Within Nagar Parishad Limit of Hanumana (Not on NH /SH)	REWA	Regular	104	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
556	Within Nagar Parishad Limit of Mangawan (Not on NH/SH)	REWA	Regular	105	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
557	From Village Sanw to Village Kapsa on SH 14	REWA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
558	From Village Shahpur to Village Godaha on SH 14	REWA	Regular	103	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
559	Within Nagar Parishad limit of Gurh(not on NH/SH)	REWA	Regular	101	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
560	Between KM Stone No 219 to 223 on NH 30	REWA	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
561	Between KM Stone No. 180 to 184 on NH 135 on LHS while going towards Mauganj from Rewa	REWA	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
562	Between Saman Tiraha to Rewa RTO Office Gate No 1(not on NH/SH )	REWA	Regular	116	OPEN CC 2	DC	20	20	400	32	55	Draw of Lots	15	5
563	From village Chorhata to Village Amraiya on Rewa Bypass road (NH 30)	REWA	Regular	154	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
564	Within 2 Km from Gate of MP Housing Board vindhya vihar Colony, Padra Road, Rewa	REWA	Regular	102	OBC PH	DC	20	20	400	32	55	Draw of Lots	15	4
565	Within nagar parishad limit of Semariya (Not on NH/SH)	REWA	Regular	106	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
566	Withing 5 km from Entry gate of Chirhula Hanuman Mandir towards Gurh on NH 39	REWA	Regular	161	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
567	Between KM Stone no 201 to 205 on NH 135 on RHS while going towards Rewa from Hanumana	REWA	Regular	150	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•	Finance to be arranged by the applicant		Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Leibe.)	10 Draw of Lots/Bidding	11	12
1 568	Within 4 km from Shark inn Hotel (on SH 14 )towards Semaria on SH 14	REWA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
569	Within Nagar parishad limit of Baikunthpur, on NH 135B	REWA	Regular	153	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
570	Between KM Stone No 247 TO 251 ON NH 39	REWA	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
571	Between Makroniya Chouraha to Deepak Memorial School, Within Nagar Palika Parishad Limit, Makronia	SAGAR	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
572	Within 10 KM from Railway crossing,Khurai towards Khimlasa on SH 62	SAGAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
573	Within Nagar Palika Parishad Limit of Deori (Not on NH/SH)	SAGAR	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
574	Between KM Stone 11 to 13 on SH 61	SAGAR	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
575	Within 2 KM From New Basti police chowki , Bina on SH 61 towards Kurwai	SAGAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
576	Within 4 Km from Kanjiya Tiraha(KanjiyaTiggada) towards Bina on SH 11	SAGAR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
577	within 5KM from Bara Chouraha at Banda on SH19 towards Bandri	SAGAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
578	Village Sasan to shahgarh on NH 934	SAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
579	Village Dungariya Tehsil Jaisinagar to Village Godai Tehsil Jaisinagar on SH 20	SAGAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
580	Between KM Stone 19 to 21 on SH 61	SAGAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
581	within 5 KM from Hirapur chouraha towards chhatarpur on NH 34	SAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
582	Village Achanwara Tehsil Khurai to village kundru Tehsil Khurai on SH 62	SAGAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
583	Village Karaiya Tehsil Jaisinagar to Village Chandoni Tehsil Jaisinagar on SH 20	SAGAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
584	Between KM Stone 195 to 205 on NH44	SAGAR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
585	Between KM Stone 288 to 293 on NH 44	SAGAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
586	Between KM Stone 13 to 18 on SH 63	SAGAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Madhya Pradesh, as per following details:
---

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimens f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in	10 Draw of Lots/Bidding	11	12
587	Within 2 KM From Sarvodaya Chowk, Bina towards khimlasa on SH 61	SAGAR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
588	Between KM Stone No 172 to 180 on NH 44	SAGAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
589	Within Nagar Palika Parishad limit of Garhakota on SH,	SAGAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
590	Village Manegaon Tehsil Deori to Village kopra Tehsil Deori on SH 22	SAGAR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
591	Within 3 KM from Jaruakheda Police thana on NH934	SAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
592	Within Municipal Limit of Sagar (Not on NH/SH)	SAGAR	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
593	Within Nagar Palika Parishad Limit of Khurai ( Not on NH/SH)	SAGAR	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
594	From ITI College Chowk to Central Bank of India , Within Nagar Panchayat Limit of Amarptan	SATNA	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
595	From Ragla to Tighra Kalan on NH 135 BG	SATNA	Regular	220	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
596	Between KM Stone No 712 to 717 on NH30	SATNA	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
597	Within Municipal Limit of Satna (Not on NH/SH)	SATNA	Regular	175	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
598	Between Rampur Baghelan to Bela on NH39 on LHS While Going Towards Rewa from Satna	SATNA	Regular	160	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
599	From Itaura Kalan to Harduwa Kalan on NH39	SATNA	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
600	From Sohawal Mod to RS Resorts on Satna-Rewa Bypass road	SATNA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
601	Between KM Stone No 695 to 705 on NH 30	SATNA	Regular	170	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
602	From village Bhadanpur to village Amatara on SH 6	SATNA	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
603	From Jeetnagar to Maihar on SH6	SATNA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
604	Between KM Stone No 760 to 765 on LHS on NH30 While Going Towards Katni from Maihar	SATNA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
605	From PGCIL Power Grid Sitpura Main Gate to Sohawal Mod on NH39	SATNA	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
606	Between Itma Nadi Teer to Chorahata on SH 24	SATNA	Regular	110	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
607	From Circuit House Chouraha to Sunshine Hotel and Resorts via bus stand, Satna	SATNA	Regular	155	OBC	DC	20	20	400	32	55	Draw of Lots	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi of the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Leibe)	10 Draw of Lots/Bidding	11	12
608	Between RS Resorts to Mataha on Satna-Rewa Bypass, on RHS While Going Toawards Rewa from Satna	SATNA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
609	Within Nagar Panchayat Limit of Rampur Baghelan (Not on NH/SH)	SATNA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
610	From Bandhi Mohar to Unchehera on NH 135BG	SATNA	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
611	Within Nagar Panchayat Limit of Maihar (Not on NH/SH)	SATNA	Regular	160	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
612	Between KM Stone No 725 to 737 on RHS on NH30 While Going Towards Katni from Maihar	SATNA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
613	From Bela to kishoura on SH 15 towards Mukundpur	SATNA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
614	From Semariya Chowk to Bonanza Convent Sr. Secondary School on Satna Semariya Road	SATNA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
615	From village Pondi to village Bhad on NH135BG	SATNA	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
616	Between Rampur Baghelan to Bela on NH39 on RHS While Going Towards Rewa from Satna	SATNA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
617	From Jaso Police Station to Dureha on NH 943	SATNA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
618	From Singhpur Chouraha,Nagod to Police station,Singhpur on SH 56	SATNA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
619	Within Nagar Panchayat Limit of Birsinghpur (Not on NH/SH)	SATNA	Regular	115	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
620	From Hospital Chowk ,Nagod to Reusa on NH 943	SATNA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
621	Within Nagar Panchayat Limit of Nagod (Not on NH/SH)	SATNA	Regular	130	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
622	Between KM Stone No 742 to 756 on LHS on NH30 While Going Towards Katni from Maihar	SATNA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
623	From Peptech City Gate to Loharaura on NH135BG	SATNA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
624	Between Km stone no 608 to 614 on LHS on NH-44 while going towards Nagpur from Jabalpur	SEONI	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
625	Between Km Stone No 1404 and 1408 on RHS on NH 34 while going from Jabalpur to Seoni	SEONI	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
626	Between Km stone no 580 to 585 on RHS on NH-44 while going towards Seoni from Jabalpur	SEONI	Regular	158	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4

Ir	dian Oil Corporation L	imited proposes to ap	point Retail Outlet dealers in	Madhya Pradesh, as	per following details:

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Labe )	10 Draw of Lots/Bidding	11	12
627	BETWEEN KM STONE NO 547 TO 560 ON LHS on NH 44 WHILE GOING TOWARDS NAGPUR FROM NARSINGHPUR	SEONI	Regular	154	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
628	Within 5 KM from Govt ITI College Keolari on SH on LHS while going from Seoni to Mandla	SEONI	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
629	Between KM stone no 8 to 11 on Seoni to Balaghat SH-72 (old SH 26)	SEONI	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
630	Between Km stone no 572 to 576 on NH 44 on LHS while going towards Nagpur from Jabalpur	SEONI	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
631	BETWEEN KM STONE NO 547 TO 560 ON RHS NH 44 WHILE GOING TOWARDS NAGPUR FROM NARSINGHPUR	SEONI	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
632	Within Municipal limit of Seoni, From Ganesh Chowk to Doonda Seoni Tiraha.	SEONI	Regular	160	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
633	Between KM Stone no 618 to 624 on NH-44 on LHS while going towards Nagpur from Jabalpur	SEONI	Regular	185	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
634	Between Km stone no 7 to 10 on SH connecting Lakhnadon to Mandla	SEONI	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
635	Between KM Stone no 618 to 624 on NH-44 on RHS while going towards Nagpur from Jabalpur	SEONI	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
636	Between KM stone no 18 to 22 ON LHS While going from Seoni to Balaghat SH-72 (Old SH - 26)	SEONI	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
637	Within 2 KM FROM HEAD POST OFFICE SEONI IN SEONI CITY	SEONI	Regular	130	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
638	WITHIN 2 KM From MOTEL CENTRE POINT, Seoni on NH 44	SEONI	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
639	Within 3km from jaisinghnagar bus stand towards Janakpur on Jaisinghnagar-janakpur road on SH-68	SHAHDOL	Regular	100	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
640	Between KM Stone No 140 to 146 on NH-43, Umaria Shahdol Road	SHAHDOL	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
641	Within 3 km from Govt. Higher secondary school, Karki towards Beohari on SH-57 on Rewa Shahdol Road	SHAHDOL	Regular	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in	10 Draw of Lots/Bidding	11	12
642	Between KM Stone No 165 to 169 on NH-43, Shahdol - kotma Road	SHAHDOL	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
643	Within 3 Km from Patkhai Bus stop on NH543 towards Shahdol , Shahdol to Pandariya road	SHAHDOL	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
644	Within 4 km from Prathmik Swasthya Kendra, Tihki towards Shahdol on Rewa Shahdol Road SH-57	SHAHDOL	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
645	Within Nagar parishad limit of Bakho on Amlai Anuppur Road	SHAHDOL	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
646	Within 7Km from Shaskiya Prathmik vidyalaya, Fatehpur towards Pandariya on NH-543 Shahdol to Pandariya Road	SHAHDOL	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
647	Within Nagar Palika limit of Dhanpuri (Not on NH/SH )	SHAHDOL	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
	Within Nagar Parishad Linit of Burhar (Not on NH/SH)	SHAHDOL	Regular	155	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
649	Between KM Stone No 135 to 139 on NH-43 (New Shahdol bypass road) on Umaria Shahdol Road	SHAHDOL	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
650	Between KM stone no.151 to155 on NH-43 , Shahdol-kotma Road	SHAHDOL	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
651	Within Nagar palika limit of Shahdol (Not on NH/SH )	SHAHDOL	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
652	From village Batouli to Village Jogipur Dakshin Tehsil Gopadbanas on NH39	SIDHI	Regular	180	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
653	From Village Chandwahi to Village Bahri (Tehsil Barhi )on NH39	SIDHI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
654	Within 3 KM from Sidhi Yatayat Thana on NH-39	SIDHI	Regular	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
655	From Village Katouli to Village Gopalpur Tehsil Rampur Naikin on State Highway	SIDHI	Regular	125	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
656	Between KM stone No 361 and 370 on NH39	SIDHI	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
657	From Village Amilai to Village Bhainsraha, Tehsil Rampur Naikin on State highway	SIDHI	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
658	Within 4 KMS FROM POLICE THANA CHURHAT TOWARDS RAMPUR NAIKIN ON State Highway	SIDHI	Regular	100	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area d	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lates)	10 Draw of Lots/Bidding	11	12
659	Within 2 KM from up-swasthayay Kendra ,Kuchwahi on NH 39	SIDHI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
660	From Samud chauraha to Dhanuja Mandir tiraha on new bypass Sarai road, Within Nagar Parishad limit of Sarai	SINGRAULI	Regular	107	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
661	From Village Bharra to village Karthua,Tehsil Chitrangi on NH39	SINGRAULI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
662	Village Gorbi Tehsil Chitrangi on NH39	SINGRAULI	Regular	201	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
663	From Village Kasar to Village Mahadeiya Tehsil Chitrangi on NH39	SINGRAULI	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
664	From District Jail Waidhan towards Village Hirrawah on Telai Hirrawah road,Within Nagar Nigam Singrauli	SINGRAULI	Regular	115	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
665	within 6 kms from Police Station, Jiavan on NH39	SINGRAULI	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
666	From Ambedkar Chowk towards Bijpur on Bijpur road, within Nagar Nigam Singrauli	SINGRAULI	Regular	115	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
667	From Village Betahadand to Village Sajahar , Tehsil Deosar on NH39	SINGRAULI	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
668	Within 3 KM from Khargapur Chauraha towards Baldeogarh on Khargapur Bhelsi road	TIKAMGARH	Regular	120	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
669	Within 5 Km from Baldeogarh police station toward Devarda on Tikamgarh to Bandha Road	TIKAMGARH	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
670	Within 3km from gate of Govt. Higher secondary school Ghunghuti towards Umaria City on NH-43	UMARIA	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
671	Within Nagar parishad limit of Nowrozabad(Not on NH/SH)	UMARIA	Regular	155	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
672	Between KM No 129 to 133 on NH-43, Umaria Shahdol Road	UMARIA	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
673	Within 3KM from Maharana Pratap chowk , Umaria towards Shahdol on NH-43 Shahdol Umaria Road	UMARIA	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
674	Within 5km from Umaria Bypass flyover towards Bandhavgarh on SH-68 Umaria Bandhavgarh Road	UMARIA	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lobbe)	10 Draw of Lots/Bidding	11	12
675	Within 3km from Vikatganj forest barrier, Umaria towards Shahpura on SH-68	UMARIA	Regular	140	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
676	Within 3km from Manpur bus stand towards Jaisinghnagar on SH-68	UMARIA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
677	Within 3 km from Yadav Jalpan grah, Nigahri towards Umaria City on SH-68, Umaria Shahpura Road	UMARIA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
678	Within Nagar Palika parishad limit of Umaria (Not on NH/SH)	UMARIA	Regular	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
679	WITHIN 3 KM FROM HPCL RO TAJ FILLING STATION TOWARDS UJJAIN ROAD ON NH 552 G	AGAR-MALWA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
680	Within 2 KM From UP TEHSIL Office, SOAYAT KALAN ON NH 552G	AGAR-MALWA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
681	BETWEEN KM STONE NO. 96 AND KM STONE NO. 99 ON AGAR BADOD STATE HIGHWAY	AGAR-MALWA	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
682	WITHIN 5 KM From CHHAWNI NAKA(AGAR) TOWARDS SUSNER ON UJJAIN JHALAWAR ROAD NH 552G	AGAR-MALWA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
683	WITHIN 4 KM FROM NAYARA PETROL PUMP SOYAT PETROLEUM, SOYATKALAN TOWARDS JHALAWAD ON AGAR JHALAWAR ROAD, NH 552G	AGAR-MALWA	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
684	WITHIN 4 KM FROM BPCL RO AKSHAT FILLING STATION TOWARDS SUSNER ON AGAR JHALAWAR ROAD NH 552G	AGAR-MALWA	Regular	153	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
685	BETWEEN KM STONE 47 AND KM STONE 51 ON JIRAPUR DAG ROAD NATIONAL HIGHWAY 752B	AGAR-MALWA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
686	WITHIN MUNCIPAL LIMIT SOYAT KALAN (Not On NH/SH)	AGAR-MALWA	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
687	WITHIN 5 KM FROM GOVT. VETERINARY HOSPITAL, BAROD TOWARDS ALOTE ON AGAR ALOTE STATE HIGHWAY	AGAR-MALWA	Regular	122	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
688	BETWEEN SUSNER 4 KM AND SUSNER 8 KM ON AGAR JHALAWAR ROAD NATIONAL HIGHWAY 552G	AGAR-MALWA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
689	WITHIN MUNCIPAL LIMIT BADAGAON	AGAR-MALWA	Regular	100	OPEN CC 2	DC	20	20	400	32	55	Draw of Lots	15	5
690	Within Municipal Limits of AGAR (Not on NH/SH)	AGAR-MALWA	Regular	102	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Labs)	10 Draw of Lots/Bidding	11	12
691	WITHIN MUNCIPAL LIMITS of BADOD ( not on NH/SH)	AGAR-MALWA	Regular	102	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
692	Within 3 KM from Alirajpur Police Thana, Alirajpur towards Chandpur on Alirajpur-Vadodara Highway	ALIRAJPUR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
693	Within 2 Kms from Goverment Boys HIgher Secondary School, Bori towards Udaigarh on Bori to Udaigarh Road	ALIRAJPUR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
694	Within 4 Kms from Chandrashekhar Azad Nagar Govt. Hospital towards Dahod on Alirajpur Dahod Road	ALIRAJPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	Between KM stone 116 and KM Stone 121 On Agra Mumbai National Highway On Left Hand Side while going to Mumbai from Indore	BARWANI	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
696	Between KM stoneNo. 118 AND KM Stone No. 123 on Agra Mumbai National Highway On Right Hand Side while going to Mumbai from Indore	BARWANI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
697	Between KM stone no 138 and KM Stone No. 142 On LHS while going to Indore from Mumbai on Agra Mumbai road	BARWANI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
698	Between KM stone 108 and KM Stone 111 On Right Hand Side while going to Mumbai from Indore on Agra Mumbai National Highway	BARWANI	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
699	Within 7 Kms from Eklavya EM School, Dondwada towards Sendhwa on Pansemal Sendhwa Highway	BARWANI	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
700	Within 3 Kms From Government Higher Secondary School, Chatli towards sendhwa on Sendhwa Pansemal Highway	BARWANI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
701	Within 3 Kms from Shree Durga Khandsari Sugar mill , Mendrana towards Khetia on Pansemal- Khetiya Highway	BARWANI	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
702	Between KM Stone No. 9 and KM Stone No. 14 on Thikri Anjad National Highway No. 347 B	BARWANI	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
703	Within Barwani Municipal Limit on Chanchal Square Barwani to Ambapani road	BARWANI	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Labe )	10 Draw of Lots/Bidding	11	12
704	Within 3 Kms from Sawariya Seth Temple, Barwani bypass towards Kukshi on Kukshi Barwani Highway.	BARWANI	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
705	Within 4 km from Rajpur bus stand towards Palsud on Rajpur-Palsud Highway	BARWANI	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
706	Between KM stone no 15 and KM Stone No.21 on Barwani Palsud Highway	BARWANI	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1 /07	Within 5 KM from Thakur Shivkumarsingh Memorial Engineering College, Jhiri on National Highway	BURHANPUR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
708	Within Municipal Limit of Burhanpur	BURHANPUR	Regular	300	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
709	Within Municipal Limit Dhulkhot	BURHANPUR	Regular	160	OPEN CC 2	DC	20	20	400	32	55	Draw of Lots	15	5
710	Within 2 KM From Govt. Primary School, Raytalai Towards Burhanpur on DEDTALAI-BURHANPUR ROAD	BURHANPUR	Regular	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
711	Within 2 Km from Maharana Pratap Chouraha, Nepanagar on Dariyapur Road.	BURHANPUR	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
712	Within 4 KMs from Rajoda Jail Chouraha towards Shajapur on dewas bypass	DEWAS	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
713	Between KM stone No. 305 and KM Stone No. 310 on Agra Mumbai National Highway On LHS while going to Shajapur from Indore	DEWAS	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
/14	Within 3 Kms from Dewas bypass toll on Left Hand Side while going Indore from Maksi	DEWAS	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Between KM stone 308 and KM Stone No. 315 on Agra Mumbai National Highway On LHS while going to Shajapur from Indore	DEWAS	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
716	Within 4 km from Siddhivinayak Restaurant on Dewas Bypass on Left Hand Side while going to Agra on Agra-mumbai highway	DEWAS	Regular	160	OPEN	сс	35	35	1225	32	12	Bidding	30	5
717	WITHIN 2 KM FROM DEWAS CIRCUIT HOUSE TOWARDS DEWAS DISTRICT JAIL	DEWAS	Regular	120	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimens f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in Lobbe)	10 Draw of Lots/Bidding	11	12
718	Within 5 KM FROM DEWAS COLLECTOR BUNGALOW TOWARDS RUPAKHEDI ON MENDKI ROAD	DEWAS	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
719	WITHIN 4 KM FROM DEWAS SP OFFICE ON DEWAS UJJAIN ROAD	DEWAS	Regular	130	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
720	Within 3 KM FROM KUSMANIA GRAM PANCHAYAT OFFICE ON KANNOD-ASTHA HIGHWAY	DEWAS	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
721	Within 2 KM FROM BANK NOTE PRESS POLICE STATION ON OLD AB ROAD	DEWAS	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
122	Within 2 KMs from New Dewas RTO On LHS while going to Bhopal from Ujjain on Ujjain -Bhopal highway	DEWAS	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
723	UPTO 2 KM FROM KHATEGAON BUS STAND ON NATIONAL HIGHWAY NO. 47	DEWAS	Regular	150	OBC	сс	35	35	1225	32	12	Bidding	30	4
724	Within 2 KM FROM AVADHESH HEALTHCARE & DAKSH HYDROQUIP, MAHUKHEDA ON STATE HIGHWAY-64	DEWAS	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1 725	WITHIN 4 KM FROM AMALTAS HOSPITAL(DEWAS) TOWARDS DEWAS ON UJJAIN-DEWAS NATONAL HIGHWAY	DEWAS	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
726	WITHIN MUNICIPAL LIMITs of Hatpipliya on Highway	DEWAS	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
727	WITHIN 3 KM FROM DIGITAL CONVENT SCHOOL(HIGHER SECONDARY) SANDALPUR ON INDORE-BETUL NATIONAL HIGHWAY 47 ON RHS WHILE GOING TO INDORE FROM NEMAWAR	DEWAS	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
728	On KHATEGAON BYPASS on LHS WHILE GOING TOWARDS INDORE FROM NEMAWAR	DEWAS	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
729	WITHIN MUNICIPAL LIMITs of Sonkatch (NOT ON NH/SH)	DEWAS	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
730	BETWEEN KM STONE NO. 112 TO KM STONE NO.116 ON STATE HIGHWAY NO 28	DEWAS	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
731	Within 2 KM FROM BANK OF INDIA BRANCH NEVRI TOWARDS HATPIPLIYA	DEWAS	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Leibe.)	10 Draw of Lots/Bidding	11	12
/32	Within 4 KM FROM RBL BANK LTD, NANASA ON NATIONAL HIGHWAY-47	DEWAS	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
733	Within 2 KM FROM HATPIPLIYA GOVERNMENT SCHOOL ON STATE HIGHWAY NO. 64	DEWAS	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
734	WITHIN 1 KM FROM TEHSIL OFFICE SATWAS ON SATWAS- KHATEGAON ROAD	DEWAS	Regular	100	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
735	WITHIN MUNCIPAL LIMIT Bhaurasa not on Highway	DEWAS	Regular	100	OBC CC 1	DC	20	20	400	32	55	Draw of Lots	15	4
736	Between KM stone No. 28 and KM Stone No. 33 on Agra Mumbai National Highway On Right Hand Side while going to Mumbai from Indore	DHAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
737	Within Pithampur Industrial Area On road Connecting Mhow- neemuch road and NH-52 via village khandwa	DHAR	Regular	150	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
738	Within 4 KM from main gate of Bridgestone India Pvt Ltd, pithampur on Mhow Neemuch highway	DHAR	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
/39	Within 1 KM from Aditya Techno Fab Private Limited , Sagour Tehsil-Pithampur	DHAR	Regular	140	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
/40	Within 5 KM on Pithampur-RAU road from Eicher Chouraha Pithampur to Rau	DHAR	Regular	130	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
/41	Between KM Stone 3 and KM Stone 7 on Badnawar Sardarpur Highway	DHAR	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
141	Between Vishal Mega Mart pithampur and D-Mart pithampur on Mhow Neemuch road	DHAR	Regular	170	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	Between Km stone No. 4 and KM Stone No. 8 on Manawar to Mangod State Highway on Left Hand Side While Going to Manawar from Mangod	DHAR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
744	Within 4 KM from Rajgadh Powergrid Gate on Indore- Ahmedabad NH ON LHS while Going to Ahmedabad from Dhar	DHAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in Locks.)	10 Draw of Lots/Bidding	11	12
745	Between Km Stone No. 0 and Km Stone No. 3 on Lebad Manpur State Highway on Left Hand Side While Going to Manpur from Lebad	DHAR	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Between KM Stone 35 and KM Stone No. 40 on Indore Ahmedabad National Highway on Left Hand Side while Going Ahmedabad from Indore	DHAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
747	Between Km Stone No. 4 and Km Stone No. 7 on Manawar - Dehri State Highway on Left Hand Side while going to Dehri From Manawar	DHAR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
748	Within 2 Km from Sardarpur Police Station	DHAR	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
749	BETWEEN KM STONE NO. 29 AND KM STONE NO. 32 ON UMARBAN - KALIBAVDI STATE HIGHWAY	DHAR	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
750	Within 2 Km from Dhanora Gram Panchayat Office on Manawar -Umarban State Highway	DHAR	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
751	Within 2 Km from Navkar Dream City Main Gate, Bakaner on Manawar-Khalghat State Highway	DHAR	Regular	110	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
	Within 2 Km from Rajod Police Station on Sardarpur- Badnawar SH on LHS while going to Badnawar from Sardarpur	DHAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	Between Km Stone 6 and Km Stone 8 on Singhana Chikalda State Highway on Right Hand Side while going to chikalda from Singhana	DHAR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
/54	Within 2 KM from Gandhwani Govt. Collage on Gandhwani- Dehri State Highway	DHAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Between Km Stone No. 90 and Km Stone No. 92 on Tanda Bagh State Highway, on Left Hand Side while going to Bagh from Tanda	DHAR	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
756	Between Km Stone No. 6 and Km Stone No. 10 on Manawar Singhana State Highway	DHAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

Indian Oil Corporation Limite	d proposes to appoint Retail Outlet	dealers in Madhya Pradesh, as	per following details:

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in Locks.)	10 Draw of Lots/Bidding	11	12
757	Between Km Stone No. 3 and KM Stone No. 5 on Mhow- Neemuch State Highway, on Left Hand Side while going to lebad from Badnawar	DHAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
758	Between KM Stone No. 41 and KM Stone No. 43 on Manawar-Banderi State Highway	DHAR	Regular	130	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
759	Between KM stone 22 and KM Stone No. 24 on Gandhwani- Bagh State Highway on Left Hand Side while going to Bagh from Gandhwani	DHAR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
760	Between KM Stone No 27 and KM Stone No. 30 on Jobat Kuksi SH on RHS while Going to Kukshi from Bagh	DHAR	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
761	Between KM Stone No. 24 and KM Stone No. 27 on Sardarpur -Badnawar State Highway	DHAR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
762	BETWEEN KM STONE 58 AND KM STONE 60 ON MHOW- NEEMUCH HIGHWAY	DHAR	Regular	110	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
763	BETWEEN KM STONE NO. 37 AND KM STONE NO. 40 ON MHOW NEEMUCH HIGHWAY ON LEFT HAND SIDE WHILE GOING TOWARDS MHOW	DHAR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
764	Between KM Stone No. 10 and KM Stone No. 17 on Badnawar-Petlawad Highway	DHAR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
765	WITHIN 3 KM FROM PANCHAKWASA PANCHAYAT KARYALAYA ON LEFT HAND SIDE TOWARDS BADNAWAR ON UJJAIN BADNAWAR HIGHWAY	DHAR	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
766	Between Palasia Chauraha and Rasoma Chauraha on LHS of Old AB Road while going from Palasia choraha to Rasoma Chouraha, Indore City	INDORE	Regular	300	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
767	Between Chandragupta Maurya Chouraha and Shree Roop Ganga garden via sewage treatment plant, Kabitkhedi in indore city	INDORE	Regular	280	OBC	сс	20	20	400	32	12	Bidding	30	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi If the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lates)	10 Draw of Lots/Bidding	11	12
768	On MR 10 Road Between Sayaji Hotel and Luvkush Chauraha	INDORE	Regular	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
769	Between New Life Hospital, Sanwer road and Deepmala Dhaba, Sanwer Road on Left Hand Side While going to Deepmala Dhaba from New Life Hospital	INDORE	Regular	175	OPEN	СС	20	20	400	32	12	Bidding	30	5
770	Between Chaudhary Market, Niranjanpur and Aranya MP Electricity office, Aranya Nagar In Indore City	INDORE	Regular	200	OPEN	СС	20	20	400	32	12	Bidding	30	5
771	Between Kilometer Stone No. 13 and KM Stone No. 18 on National Highway on Right Hand Side while going to Betma from Indore	INDORE	Regular	165	OBC	сс	35	35	1225	32	12	Bidding	30	4
772	On MR 5 Road Between Kalka Mata Mandir, Laxmibai Nagar and The New Era Public School, Chhota Bangarda road in Indore City	INDORE	Regular	172	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
773	Between Bapat Square and Anand Care Hospital Via Prime City road in Indore City	INDORE	Regular	180	OPEN	СС	20	20	400	32	12	Bidding	30	5
774	Within 3 KM from 12 Jyotirling Temple, Pardesipura in Indore City	INDORE	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
775	Within 2 KM from Shree Krishna Goshala, Runji Gautampura towards Ingoriya on State Highway	INDORE	Regular	135	OBC	сс	35	35	1225	32	12	Bidding	30	4
776	Within 2 KM from Shree Mangleshwar Mahadev Mandir, Depalpur Towards Runji Gautampura on State Highway	INDORE	Regular	135	OPEN	СС	35	35	1225	32	12	Bidding	30	5
777	Within 5 KM from Toll Plaza Baroli towards Ujjain on state Highway on Left Hand Side While Going to Ujjain From Indore	INDORE	Regular	140	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
778	Within 3 KM from Mars Mission statue (Super Corridor square) towards Hatod on State Highway	INDORE	Regular	120	OBC	СС	35	35	1225	32	12	Bidding	30	4
779	Between Robot chouraha and bangali chouraha on Indore City Ring Road	INDORE	Regular	180	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
780	Within Municipal Limit of Sanwer (Not on State Highway)	INDORE	Regular	115	OPEN	CC	20	20	400	32	12	Bidding	30	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimens f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lates)	10 Draw of Lots/Bidding	11	12
781	Between Bapat Square and Niranjanpur Square Via Brilliant convention centre in Indore city	INDORE	Regular	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
782	Between Captain Sahab Chowk, Khajrana, Indore city and Indore Bypass Via Goya Road within municipal limits of Indore	INDORE	Regular	200	OBC	СС	20	20	400	32	12	Bidding	30	4
783	Between Hotel Redisson Chauraha and ION Digital Zone, Dewas Naka via Bombey Hospital in Indore City	INDORE	Regular	260	OPEN	СС	20	20	400	32	12	Bidding	30	5
784	Between Bangali Chouraha to Indore Bypass on Kanadiya Road	INDORE	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	Between Bhandari Resort and Dastoor Delight Garden on Agra-Mumbai National Highway, On Left Hand Side while going to Dewas from Mumbai	INDORE	Regular	250	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
786	Upto 7 KM from The Grand machal towards Betma on Left Hand side While going to Betma From Indore on National Highway	INDORE	Regular	155	OPEN CC 2	сс	35	35	1225	32	12	Bidding	30	5
787	Within 2 Kms from Wild Flower society,Indore Bypass on Agra-Mumbai National Highway	INDORE	Regular	180	OBC CC 1	DC	20	20	400	32	75	Draw of Lots	15	4
/88	Between Bada Ganpati Mandir and Aerodrome Police Station, Airport road in Indore City	INDORE	Regular	220	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
789	Within 4 km from Hotel Regenta Central, Indore Bypass towards dewas on Left Hand Side while going to Dewas from Indore	INDORE	Regular	300	OPEN	СС	35	35	1225	32	12	Bidding	30	5
790	Within 2 kms from Hotel Water Lily on Agra Mumbai National Highway On LHS while going to Agra from Mumbai	INDORE	Regular	270	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
/91	Between KM stone No 34 and KM Stone No. 38 On LHS while going towards Mumbai on Agra Mumbai National Highway	INDORE	Regular	150	OBC	сс	35	35	1225	32	12	Bidding	30	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lates)	10 Draw of Lots/Bidding	11	12
792	Within 5 Km from Manpur Police Station on Agra Mumbai National Highway on Left Hand Side while going to Indore From Mumbai	INDORE	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
793	Upto 3 kms from Skyline Resort on Indore Bypass on LHS while going to Mumbai from Dewas	INDORE	Regular	170	OPEN	сс	35	35	1225	32	12	Bidding	30	5
794	Between KM stone No. 583 and KM Stone No. 587 on Agra Mumbai National Highway On Left Hand Side while going to Dewas from Indore	INDORE	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
795	Between KM stone no 23 and KM Stone No. 27 On Left Hand Side while going to Indore from Mumbai on Agra Mumbai National Highway	INDORE	Regular	150	OBC	сс	35	35	1225	32	12	Bidding	30	4
796	Upto 4 Kms from Rau circle towards Mumbai On Agra Mumbai National Highway on Left Hand Side while going to Mumbai from Indore	INDORE	Regular	175	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
797	Between Main gate of Omaxe City One, Indore and HR resort, Indore On Left Hand Side while going to Mumbai from Agra on Indore Bypass	INDORE	Regular	200	OBC	сс	20	20	400	32	12	Bidding	30	4
798	Within 10 kms from Rau circle on RHS while going to Agra from Mumbai on Indore bypass	INDORE	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
799	Between Palasia Square to Rajiv gandhi Square on old AB road	INDORE	Regular	220	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
800	Between Main gate of Chameli Devi Group of Institutions and touchwood resort on Indore-Khandwa National Highway	INDORE	Regular	180	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
801	Indore city from Navlakha square to Palda Square via Teen Imli Chauraha	INDORE	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
802	Within 4 KM from Indore collectorate Gate	INDORE	Regular	180	OBC PH	DC	20	20	400	32	75	Draw of Lots	15	4
803	Between Govt. College Rau Main Gate and CAT square Via Rangwasa Square	INDORE	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lakes)	10 Draw of Lots/Bidding	11	12
804	Between Futi kothi square to CAT Square on RHS while going to Futi Kothi Square from CAT Square	INDORE	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
805	Between Dewas naka square and balaji sky township via BCM park township in Indore city	INDORE	Regular	180	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
806	Between World Cup Square and NH-52 On Piplihana main road	INDORE	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
807	Between Nayta Mundla square and Sanvadia square Within Indore Muncipal Limit on Devguradia Road	INDORE	Regular	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
808	Within 1 KM from Bank of India, Kesharbagh Branch on Babu Lalchand Chajlani Road	INDORE	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
809	Between Futi kothi square to CAT Square on LHS whilegoing from Futi Kothi to CAT Square	INDORE	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
810	Between Collectorate square to Tejaji Nagar Police Station within Indore WML on Khandawa-Indore Rd	INDORE	Regular	130	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
811	Within 6 km from Mhow toll plaza on Umariya-Mhow Road towards Mhow	INDORE	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
812	On Simrol bypass while going to Khandwa from Indore	INDORE	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
813	Between Bangali Square and Rajiv Gandhi chouraha on Ring Road, Indore City	INDORE	Regular	180	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
814	Between Silicon city square and Silicon city main gate on Silicon city road, Rau	INDORE	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
815	Between KM Stone no. 100 and KM Stone No. 102 ON Ratlam Jhabua State Highway on RHS While going to Jhabua from Meghnagar	JHABUA	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
816	Between KM stone No. 245 and KM Stone No. 250 on NH 47 on Left Hand Side while going to Indore from Ahmedabad	JHABUA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
817	Within Muncipal Limit Petlawad on Petlawad Thandla STATE HIGHWAY	JHABUA	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in	10 Draw of Lots/Bidding	11	12
818	Within 2 km from Om hotel & restaurant ,Rundipada On Thandla Limdi road on Left Hand Side While going to Kakanwani from Thandla	JHABUA	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
819	Between KM stone No. 230 and KM Stone No. 232 on NH47 on Left Hand Side while going to Indore from Ahemdabad	JHABUA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
820	Within Muncipal Limit Jhabua not on highway	JHABUA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
821	Between KM Stone No. 7 and KM stone no. 9 on Thandla Kushalgadh State Highway	JHABUA	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
822	Within 2 km from Madhya Pradesh Paschim Kshetra Vidhut Vitaran 33/11 KVA Sub Station Bhojakhedi towards Indore on National Highway Right hand Side while going from Burhanpur to Indore	KHANDWA	Regular	170	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
	Within 5 KMS FROM BANK OF MAHARASHTRA,CHAIGAOM MAKHAN TOWARDS KHANDWA ON NATIONAL HIGHWAY 347B	KHANDWA	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
824	Between KM Stone 112 and KM Stone No. 118 on National Highway No. 753L on Left Hand Side while going to Burhanpur from Indore	KHANDWA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
825	On Dhangoan By Pass On National Highway	KHANDWA	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
826	Between KM Stone No. 101 and KM Stone No. 103 on Left Hand Side While Going to Burhanpur from Indore on National Highway	KHANDWA	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
827	Between KM Stone No. 101 and KM Stone No. 103 on Right Hand Side While Going to Burhanpur from Indore on National Highway	KHANDWA	Regular	185	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
828	Within 5 KM from Hotel Runway, Borgaon Bujurg on National Highway	KHANDWA	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
829	Within 5 KM from Girls Primary School, Khedi On Khandwa- Harda Road	KHANDWA	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in	10 Draw of Lots/Bidding	11	12
830	Between Indore naka and Ganesh goushala on khandwa bypass road (Not on Highway)	KHANDWA	Regular	120	OBC CC 1	DC	20	20	400	32	55	Draw of Lots	15	4
831	Within Muncipal Limit Khandwa	KHANDWA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
832	Within Municipal Limits of Punasa (Not on NH/SH)	KHANDWA	Regular	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
833	Between SN college, Khandwa and College of agriculture, Khandwa on Jaswadi Road	KHANDWA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
834	Between KM Stone No. 50 and KM Stone No. 52 on Punasa Sanawad Highway	KHANDWA	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
835	Within 4 kms from Mahalaxmi temple, Khandwa towards Nagchun on Moghat-Nagchun road	KHANDWA	Regular	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
836	Within Municipal Limits of Mundi (Not on NH/SH)	KHANDWA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
837	Within 2 km from bhagat Singh Chowk, Chhanera towards St. Stephen Convent School , Chhanera	KHANDWA	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
838	within 2 Km from feelgood chouraha towards barud Chhanera Tehsil Harsud	KHANDWA	Regular	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
839	Within Municipal Limits of Pandhana (Not on NH/SH)	KHANDWA	Regular	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
840	Within 5 Kms from Intersection of NH 347B and Nangalwadi road on NH-347B	KHARGONE	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	Within Muncipal Limit Khargone On Sanawad road	KHARGONE	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
842	Within 10 Kms from Nayara Petrol Pump Shivam Fuels towards Bhusawal on NH-347C	KHARGONE	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
843	Within 4 Kms of Intersection of NH 347B and Dasnawal Road on NH-347B	KHARGONE	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
844	Within 8 Kms of intersection of NH-347BG and NH-347B towards Bhikangao on NH-347B	KHARGONE	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
845	Within 6 Kms from Kasrawad-Mandleshwar-Khalghat Tiraha towards Mandleshwar on Kasrawad Mandleshwar Highway	KHARGONE	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
846	Within 5 KMs from Govt Hospital, Bamnala on NH 347B	KHARGONE	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Labs)	10 Draw of Lots/Bidding	11	12
847	Within 6 KM from Intersection of NH 347C and NH 347B towards Julwaniaon on Khargone Julwania Road	KHARGONE	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
848	Within 6 Kms from Kasrawad-Mandleshwar-Khalghat Tiraha towards Khargone on Kasrawad Khargone Highway	KHARGONE	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
849	Within 4 km from Bank of India, Dhargaon on Barwah- Maheshwar Road	KHARGONE	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
850	Within Muncipal Limit Khargone	KHARGONE	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
851	Within 5 Kms from Intersection of NH-347BG and Barwaha Katkut Road towards Ichhapur on Indore-Ichhapur Highway	KHARGONE	Regular	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
852	WITHIN 2 Kms from Narmada Valley International School On Barwaha - Mandleshwar Higway towards Mandleshwar	KHARGONE	Regular	130	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
853	Within Muncipal Limits Malhargarh on Mandsaur- Neemuch Road	MANDSAUR	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
854	Within 2 KM from Prathamik Swastha Kendra, Bardiya Amra on Shamgarh-Garoth Road	MANDSAUR	Regular	132	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
855	Within Muncipal Limits on Pipliyamandi Mandsaur- Neemuch Road	MANDSAUR	Regular	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
856	Between KM Stone no 5 and KM stone No 9 on Mandsaur - Pratapgarh Road	MANDSAUR	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
857	Within 2 Km of Dudhakhedi Mata Mandir Main Gate on Garoth Bhanpura Road	MANDSAUR	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
858	Within Muncipal Limits of Shamgarh on Shamgarh Garoth Road ( State Highway)	MANDSAUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
859	Within Muncipal Limits of Suwasra (not on NH/SH)	MANDSAUR	Regular	100	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
860	Between KM Stone no 0 and KM Stone No. 4 on either side of Road on Mandsaur -Pratapgarh Road	MANDSAUR	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
861	Within 3 Km of Main gate of Mandsaur Railway Station, Mandsaur	MANDSAUR	Regular	104	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in Lates)	10 Draw of Lots/Bidding	11	12
862	Between KM Stone no 6 and KM Stone no. 10 on Sitamau to Suwasra road	MANDSAUR	Regular	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
863	Within Municipal Limits of Mandsaur City (Not on NH/SH)	MANDSAUR	Regular	132	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
864	Within 2 Km from Gandhi Chouraha, Mandsaur	MANDSAUR	Regular	120	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
865	Between KM Stone No.157 and KM Stone No. 162 on Ratlam - Mandsaur Highway	MANDSAUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
866	Within Nagar Parishad Limits Kukdeshwar on Manasa- Rampura Road	NEEMUCH	Regular	132	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
867	Within Muncipal Limits Jeeran	NEEMUCH	Regular	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
868	Within Municipal Limits of Neemuch City (Not on NH/SH)	NEEMUCH	Regular	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
869	Between KM stone no 222 and KM Stone No. 225 ON Mandsaur-Nayagaon Road on LHS While Going towards Nayagaon	NEEMUCH	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
870	Within Muncipal Limits Sarwaniya Maharaj	NEEMUCH	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
871	Between Kilometer stone no 6 to 10 on Neemuch-Manasa Road	NEEMUCH	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
872	Between KM stone no 216 and KM Stone no. 214 on Mandsaur -Nayagaon road on Left Hand Side While Going towards Mandsaur from nayagaon	NEEMUCH	Regular	132	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
873	Between KM stone no 225 and KM Stone no. 220 on Mandsaur -Nayagaon road on LHS While Going towards Mandsaur from nayagaon	NEEMUCH	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
874	Between KM Stone No. 103 and KM Stone No.108 on Mhow- Neemuch Road	RATLAM	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
875	Within 6 KM from Bhuteda Toll Plaza towards Mandsaur on Jaora-Ujjain Road	RATLAM	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
876	Within 2 KM from Ratlam Nagar Nigam Office	RATLAM	Regular	150	OBC CC 1	DC	20	20	400	32	55	Draw of Lots	15	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area d	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Labs)	10 Draw of Lots/Bidding	11	12
877	Within 5 KM from Joyo Cafe Jaora towards Ratlam On LHS on Ratlam- Mandsaur Road while going to Ratlam from Mandsaur	RATLAM	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
878	Upto 4 KM from Joyo Cafe Jaora towards Ratlam RHS on Ratlam- Mandsaur Road while going Ratlam from Mandsaur	RATLAM	Regular	150	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
879	Between Maharana Pratap Chowk (Sailana bus stand ,Ratlam) and hotel Balaji Central on Ratlam -Sailana Road	RATLAM	Regular	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
880	Within 4 KM Govt. Boys Higher secondary School, Sarwan towards Sailana on Ratlam-Sailana-Banswada Road	RATLAM	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
881	Within Municipal limits of Namli ( Not on Mhow Neemuch Road)	RATLAM	Regular	100	OPEN	СС	20	20	400	32	12	Bidding	30	5
882	From Cactus Garden Gate, Sailana on shivgarh road within Sailana Municipal Limit	RATLAM	Regular	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
883	Between KM Stone No.11 and KM Stone No. 06 on Jaora -Tal- Alot Highway	RATLAM	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Within 6 KM from govt. Boys Higher secondary School , sarwan towards Banswada on Ratlam-Banswada Highway via Sailana	RATLAM	Regular	150	OPEN	сс	35	35	1225	32	12	Bidding	30	5
885	Within 2 KM from Do Batti chowk in Ratlam city	RATLAM	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
886	Within 5 KM from Toll Plaza Dhamnod towards Sailana on LHS while going to sailana from ratlam on Ratlam- Sailana Road	RATLAM	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
887	Between KM stone 133 to 135 towards Ratlam on Left Hand Side of Ratlam-Mandsaur Road	RATLAM	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
888	Within 5 KM from Hotel Balaji Central , Ratlam towards Sailana on Ratlam Sailana Road	RATLAM	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
889	Within 1 KM from St. Joseph's Convent school Main Gate, Ratlam	RATLAM	Regular	110	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi If the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lates)	10 Draw of Lots/Bidding	11	12
890	Between KM stone 119 to 121 on LHS towards Ratlam on Ratlam -Mandsaur Road	RATLAM	Regular	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
891	Between KM Stone No. 95 and KM Stone No. 97 on LHS while going to Mandsaur from Indore on Mhow- Neemuch Road	RATLAM	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
892	within Municipal Limits of Jaora (Not on NH/SH)	RATLAM	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
893	Within Municpal limits of Alote (Not on NH/SH)	RATLAM	Regular	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
894	Within 5 KM of Badawada Police Station towards Jaora on Jaora-Ujjain Road	RATLAM	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
895	Within 2 KM of Badawada Police Station towards Ujjain on Jaora-Ujjain Road	RATLAM	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
896	Within 2 KM of D-Mart Ratlam on Old Bypass Road towards Railway overbridge (Ratlam- Indore Railway line)	RATLAM	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
897	Between Railway underpass (Jaora Fatak) Ratlam towards Jaora on Old Jaora Ratlam Road within Ratlam Muncipal Limits	RATLAM	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
898	Within municipal limits of Dhamnod (Not on NH/SH)	RATLAM	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
899	Up to 5 kms from Joyo cafe, Jaora towards Ujjain on Jaora- Ujjain Road	RATLAM	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
900	Between KM Stone No.28 and KM Stone NO. 22 on Jaora-Tal- Alot Highway	RATLAM	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
901	BETWEEN KM STONE NO. 72 and KM Stone No. 74 ON MHOW NEEMUCH HIGHWAY ON LEFT HAND SIDE WHILE GOING to RATLAM FROM INDORE	RATLAM	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
	BETWEEN KM STONE NO. 77 and KM Stone No. 79 ON MHOW NEEMUCH ROAD ON LEFT HAND SIDE WHILE GOING to RATLAM FROM INDORE	RATLAM	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
903	Within Muncipal limit Ratlam not on highway	RATLAM	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area d	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Leibe)	10 Draw of Lots/Bidding	11	12
904	BETWEEN KM STONE NO. 63 and KM Stone No. 65 ON MHOW NEEMUCH STATE HIGHWAY ON LEFT HAND SIDE WHILE GOING TO INDORE FROM RATLAM	RATLAM	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
905	Maksi bypass on Agra-Mumbai National Highway	SHAJAPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
-	WITHIN 4 KM From JETHDA JOD CHOURAHA TOWARDS SHUJALPUR ON ASTHA SHUJALPUR NATIONAL HIGHWAY 752C	SHAJAPUR	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
907	BETWEEN KM STONE 59 AND KM STONE 63 ON SHUJALPUR ASHTA ROAD ON NH 752C	SHAJAPUR	Regular	152	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
908	BETWEEN KM STONE 46 AND KM STONE 51 ON SHUJALPUR ASHTA ROAD NH 752C	SHAJAPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
909	Within Municipal Limit Maksi ON OLD AGRA MUMBAI ROAD	SHAJAPUR	Regular	102	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
910	Shajapur bypass on Agra Mumbai National Highway on left hand side while going to Agra from Indore	SHAJAPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
911	BETWEEN PRINCE HYUNDAI SHOWROOM AND GOVT COLLEGE DATANA ON HIGHWAY	UJJAIN	Regular	156	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
912	ON NARWAR BYPASS ON UJJAIN-DEWAS HIGHWAY	UJJAIN	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
913	Within Municipal Limit of UJJAIN city ON UJJAIN - GHATIYA- AGAR ROAD	UJJAIN	Regular	170	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
914	FROM VILLAGE NAZARPUR TO VILLAGE KADWALI On NH 552 G	UJJAIN	Regular	159	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
915	Within 3 KM from Ujjain Institute Of Pharmaceutical sciences, Chandesara on Ujjain -Dewas Highway	UJJAIN	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
916	Between HARSIDDHI VIHAR COLONY , Ujjain and NIRMALA HOSPITAL, Ujjain ON UJJAIN DEWAS ROAD	UJJAIN	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
917	Within Municipal Limits of UJJAIN ON UJJAIN-DEWAS ROAD	UJJAIN	Regular	165	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
918	Within 4 KM from MPEB office Ghosla on Ujjain -Agar National Highway	UJJAIN	Regular	154	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
919	Within Municipal Limit Ujjain on UJJAIN-MAKSI ROAD	UJJAIN	Regular	164	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in	10 Draw of Lots/Bidding	11	12
920	Within 3 KM from ITC Chaupal Sagar, Kamed on Ujjain Agar Road.	UJJAIN	Regular	155	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
921	Within 3 KM from Gram Panchayat Office, Dhanodiya on Highway	UJJAIN	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
922	From VILLAGE DABLA HARDU to VILLAGE PARSI on GHOSLA AGAR ROAD (NH 552G)	UJJAIN	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
923	TARANA Within Municipal Limit ON KANIPURA ROAD	UJJAIN	Regular	106	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
924	TARANA Within Municipal Limit ON TARANA-LIMBADIT ROAD	UJJAIN	Regular	104	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
925	Within Municipal Limit of Mahidpur ON JAVRA ROAD	UJJAIN	Regular	102	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
926	FROM SAI KRIPA WAREHOUSE TO VILLAGE DABLA-DABLI ON SH 16	UJJAIN	Regular	114	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
927	FROM VEER BALAJI COLD STORAGE TO MAA UMAIYA WAREHOUSE on SH 16 (TARANA RUPAKHEDI ROAD)	UJJAIN	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
928	Within Municipal Limits of Mahidpur ON PANBIHAR ROAD	UJJAIN	Regular	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
929	Within 4 KM from Krishi Upaj Mandi ,Ghosla on Mahidpur- Ghosla Highway towards Mahidpur	UJJAIN	Regular	104	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
930	Within 5 KM from Avi Agri Business Limited, Chandukhedi On Left Hand Side While Going twards Badnagar on Ujjain - Badnagar Highway	UJJAIN	Regular	154	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
931	VILLAGE GANGEDI ON UJJAIN-BADNAGAR NATIONAL HIGHWAY	UJJAIN	Regular	166	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
932	Within Municipal Limit of Ujjain ON UJJAIN-INDORE ROAD	UJJAIN	Regular	155	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
933	BETWEEN KM STONE NO. 0 AND KM STONE NO. 03 ON STATE HIGHWAY NO. 26 B	UJJAIN	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
934	WITHIN 2 KM FROM SHASKEEY MADHAYAMIK VIDHYALAY, UMARNA ON NAGDA-KHACHROD-RATLAM HIGHWAY	UJJAIN	Regular	116	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Latio	10 Draw of Lots/Bidding	11	12
935	BETWEEN KM STONE NO 61 AND KM STONE NO. 63 ON LHS WHILE GOING to JAORA FROM NAGDA ON NAGDA JAORA HIGHWAY	UJJAIN	Regular	109	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
936	BETWEEN KM STONE NO. 43 AND KM STONE NO. 45 ON UJJAIN NAGDA HIGHWAY	UJJAIN	Regular	106	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
937	Within Municipal Limit of Ujjain City ON UJJAIN-CHINTAMAN MANDIR ROAD	UJJAIN	Regular	155	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
938	BETWEEN KRISHI UPAJ MANDI SAMITI, UNHEL AND SHREE NIRANJAN INTERNATIONAL SCHOOL , UNHEL - UJJAIN HIGHWAY	UJJAIN	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
939	Within Municipal Limits of Nagda ON MAHIDPUR-NAGDA ROAD	UJJAIN	Regular	108	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
940	Within Municipal Limits of Nagda ON NAGDA-UJJAIN ROAD	UJJAIN	Regular	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
941	BETWEEN KM STONE NO 35 AND KM STONE NO 38 ON UJJAIN NAGDA HIGHWAY	UJJAIN	Regular	106	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
942	Within Municipal Limit of Unhel (Not on NH/SH)	UJJAIN	Regular	105	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
943	WITHIN 2 KM FROM AMARNATH AVENUE, Ujjain ON RIGHT HAND SIDE TOWARDS INDORE ON UJJAIN-INDORE HIGHWAY	UJJAIN	Regular	155	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
944	Within 4 KM from Govt. High School, Chikli On Ujjain- Badnagar Highway	UJJAIN	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
945	FROM INGORIYA CHOPATI TO NAWADA CHOPATI ON UJJAIN NAGDA HIGHWAY	UJJAIN	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
946	BETWEEN ANANDAM CLUB & RESORT AND RATANPRIYA HOTEL & RESORT ON UJJAIN INDORE HIGHWAY	UJJAIN	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
947	BETWEEN BADNAGAR QILA AND GOVT. REST HOUSE on Station Road, Badnagar	UJJAIN	Regular	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
948	BETWEEN GOVT JIWAJI OBSERVATORY,UJJAIN AND HOTEL ATHARVA , UJJAIN	UJJAIN	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area d	m Dimensi f the site (			be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Leibe)	10 Draw of Lots/Bidding	11	12
949	BETWEEN ADITYA BIRLA SCHOOL, NAGDA AND ESIC HOSPITAL,NAGDA	UJJAIN	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
950	Within 5 KM from Office of Junior Engineer,Madhya Pradesh Paschim Chhetra Vidyut Vitran Company Limited, Kharsod Khurd on Left Hand Side While Going towards Badnagar On Ujjain-Badnagar Highway	UJJAIN	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
951	Within 8 KM from Mahidpur Tehsil Office , Mahidpur on Mahidpur -Ghosla Road towards Ghosla	NIALLU	Regular	109	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
952	From Village Mlajpur to Village Jakhali on Jhadkund road	BETUL	Rural	77	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
953	Village Amthana Ryt Tehsil Ghodadongri	BETUL	Rural	78	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
954	Village Genhu Barsa Tehsil Prabhatpattan	BETUL	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
955	Village Rindhora Tehsil Multai	BETUL	Rural	62	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
956	Witnin 2 KMs from Goldmark Resorts Churna Tehsil Shahpur	BETUL	Rural	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
957	Village Pipersana tehsil Gohad on Gwalior chitoura road	BHIND	Rural	107	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
958	Village Idurkhi, tehsil Ron	BHIND	Rural	74	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
959	Village Lahchura Tehsil Gohad on Malanpur-Bahadurpur Road	BHIND	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
960	Village Bisalpura Halka MotipuraTehsil Bhind	BHIND	Rural	63	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
961	Village -Gungavali Tehsil Mehgaon District Bhind	BHIND	Rural	67	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
962	Village - Raupura tehsil Gormi on Kalyanpura Road	BHIND	Rural	63	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
963	Village Barkheda Nathu, Tehsil Huzur	BHOPAL	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
964	From Bank of India Ratibad to village Badjhiri on Neelbad Sehore Road	BHOPAL	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
965	Village Chak Chandewa, tehsil Datia, On Datia Bhander Road	DATIA	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
966	Village Isartoda, Tehsil Raghogarh (Not on NH/SH)	GUNA	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
967	Village Mirgwas, Tehsil Kumbhraj, Guna (Not on Highway)	GUNA	Rural	62	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
968	From Village Hamirpur to village Bilkheda on Hamirpur- Bilkheda main road	GUNA	Rural	90	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o		•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in	10 Draw of Lots/Bidding	11	12
969	village Puri tehsil Chinour on Kalyani-Chimak road	GWALIOR	Rural	71	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
	Vill- Sukhapatha Tehsil Dabra	GWALIOR	Rural	66	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
971	Village Nandara Tehsil Handiya	HARDA	Rural	62	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
	Village Gahal Tehsil Harda	HARDA	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
973	Village Kamtari, Tehsil Ambah	MORENA	Rural	66	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
974	Village Bichola, Tehsil Bamor, On Tikri Rithora Road	MORENA	Rural	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
	Village Khaneta, Tehsil Joura, On Morena Khaneta Road	MORENA	Rural	62	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
976	Village Jai Nagar, Tehsil- Bamor (Not on NH/SH)	MORENA	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
	Village Kanhar, Tehsil Joura	MORENA	Rural	95	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
978	Village Khapariya Tehsil Seoni Malwa	NARMADAPURAM	Rural	96	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
979	Village Banada Tehsil Seoni Malwa	NARMADAPURAM	Rural	56	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
-	Village Mankapur Tehsil Badi	RAISEN	Rural	130	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
981	Village Sunwaha Tehsil Begumganj	RAISEN	Rural	61	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
	Village Kanpohra Tehsil Raisen	RAISEN	Rural	64	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
983	Village Nounpur Tehsil Gairatganj	RAISEN	Rural	74	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
984	Village Bharkachha kalan tehsil Badi	RAISEN	Rural	63	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
985	Village Gudawal Tehsil Goharganj	RAISEN	Rural	62	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
986	Village Gulgaon Tehsil Raisen	RAISEN	Rural	61	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
987	From village Udiya to Village Bhadon on road via village Mohad Kalan, tehsil Udaipura	RAISEN	Rural	64	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
988	Village Bankhedi Tehsil Udaipura	RAISEN	Rural	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
989	From village Dhamanda(tehsil Sarangpur) to village Amlaroad(tehsil Pachore) on Amlaroad-Dhamanda Road	RAJGARH	Rural	85	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
990	From village Chatokheda Sondhiya (tehsil khujner) to Village Pura Chatookheda (tehsil khujner) on road towards village Kali talai (Tehsil Khujner)	RAJGARH	Rural	96	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
991	Village Khimakhedi Tehsil Khujer on Rajgarh to Khujner Road	RAJGARH	Rural	79	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
992	Village Atraliya Tehsil Bhairunda(Nasrullaganj), Distt - Sehore	SEHORE	Rural	73	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

Indian Oil Corporation Li	mited proposes to appoint Reta	il Outlet dealers in Madhya F	Pradesh, as per following details:
---------------------------	--------------------------------	-------------------------------	------------------------------------

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lothe )	10 Draw of Lots/Bidding	11	12
993	Village Chich Tehsil Bhairunda(Nasrullaganj)	SEHORE	Rural	74	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
994	Village Mittukhedi on Shyampur-Sehore Road, Tehsil- Shyampur	SEHORE	Rural	74	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
995	Within 2 KM from Shri Raja Bhoj Mahavidyalay, Sehore on Sehore-Doraha road( Outside municipal limits of Sehore)	SEHORE	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
996	Village Basudeo Tehsil Bhairunda(Nasrullaganj)	SEHORE	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
997	From Khandwa Jod to village Shaharyarganj on Sehore Shyampur Road	SEHORE	Rural	76	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
998	Village Baijnath Tehsil Astha	SEHORE	Rural	77	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
999	Village Bhainsaai on sunwai road Tehsil- Vijaypur	SHEOPUR	Rural	70	OPEN PH	DC	20	20	400	16	35	Draw of Lots	5	4
1000	Village Sunwai tehsil Vijaypur	SHEOPUR	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1001	Village Tilatili tehsil Badarwas (Not on NH/SH)	SHIVPURI	Rural	97	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1002	Village Dihayala Tehsil Narwar	SHIVPURI	Rural	62	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1003	Within 5 KMs From Nh146 Junction At Bagrod Towards Teonda On Bagrod Basoda Road	VIDISHA	Rural	74	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1004	Village Ghosua, Tehsil Gulabganj	VIDISHA	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1005	VIllage Shekhpur, Tehsil Kurwai	VIDISHA	Rural	61	OBC CC 1	DC	20	20	400	16	35	Draw of Lots	5	3
1006	Village Bhagwanpur, Tehsil Shamshabad, Dist. Vidisha	VIDISHA	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1007	Village Imlani Tehsil Sironj	VIDISHA	Rural	75	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
	Village Somvara on new Gurod - Sironj Road	VIDISHA	Rural	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1009	Village Naulas Tehsil Gulabganj	VIDISHA	Rural	75	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1010	Within 2 KM from Shaskiya Kanya High School,Barjhar towards Badgaon on Barjhar -Badgaon Road, Tehsil : Chandrashekhar Azad Nagar	ALIRAJPUR	Rural	105	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1011	Within 2 KM From Shaskiya Madhyamik Vidyalay , Sangaon towards Bilwadeb on Sangaon-Bilwadeb Road, Tehsil : Rajpur	BARWANI	Rural	100	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1012	Within 1 KM From Anganwadikendra, Gerughati on Balwadi- Dhawli Road, Tehsil-Waria	BARWANI	Rural	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o		•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Latia)	10 Draw of Lots/Bidding	11	12
1013	Within 2 KM from Shaskiya Uchchtar Madhyamik Vidyalay, Menimata towards Holgaon on Chiklya Holgaon road., Tehsil: Barwani	BARWANI	Rural	110	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1014	Within 2 KM from Up Swasthya Kendra, Mandranya on Rodiya-Mandranya Road towards Rodiya, Tehsil: Thikri	BARWANI	Rural	80	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1015	Within 2 KM from Shree Geeta Textile Mills , Bodrali on Burhanpur -Jalgao Road, TEHSIL: Khaknar	BURHANPUR	Rural	120	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1016	Within 2 Km from Gram Panchayat Office, Sajni towards nepanagar , Tehsil- Khaknar	BURHANPUR	Rural	120	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
1017	Within 2 KM from Linga Fata, Hingna Rayat on Dariyapur Road ,Tehsil - Nepanagar	BURHANPUR	Rural	150	OBC PH	DC	20	20	400	16	35	Draw of Lots	5	3
1018	Within 2 KM from Govt. Primary School, Rupatta, on Sannod double Choki Road, Tehsil : Dewas	DEWAS	Rural	90	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1019	Within 2 KM FROM GOVERMENT HIGH SCHOOL, PIPALYABAKS ON MUNDLANA- PIPALYABAKS ROAD , TEHSIL :SONKATCH	DEWAS	Rural	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1020	WITHIN 2 KM FROM UP SWASTHYA KENDRA ,PIPLKOTA ON SATWAS-KHATEGAON ROAD, TEHSIL:KANNOD	DEWAS	Rural	100	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
1021	WITHIN 2 KM FROM GOVERNMENT HIGHER SECONDARY SCHOOL,UDAINAGAR ON UDAINAGAR PUNJAPURA ROAD	DEWAS	Rural	125	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1022	WITHIN 2 KM FROM PUSHPDEEP INTERNATIONAL SCHOOL , NAYAPURA TOWARDS SATWAS ON SATWAS-KHATEGAON ROAD, TEHSIL :KHATEGAON	DEWAS	Rural	130	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1023	Between Km Stone 16 and Km Stone No 18 on Kod - Badnawar Road, Tehsil: Badnawar	DHAR	Rural	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1024	Between KM Stone No. 25 and KM Stone No. 27 on Bakaner to Ganpur Road, Tehsil: Manawar	DHAR	Rural	85	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1025	Within 1.5KM from KM Stone No. 16 on Kesoor Depalpur Road, Tehsil:Dhar	DHAR	Rural	110	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4

Indian Oil Corporation Limited	proposes to appoint Retail	Outlet dealers in Madhya Pradesh	, as per following details:

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lates)	10 Draw of Lots/Bidding	11	12
1026	Between KM Stone No. 15 and KM Stone No. 20 on Bagadi- Digthan Road, Tehsil. Dhar	DHAR	Rural	100	OBC CC 1	DC	20	20	400	16	35	Draw of Lots	5	3
1027	Within 1 KM from Atarsuma gram panchayat office, on padiyal- Dahi road, Tehsil Dahi	DHAR	Rural	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1028	Within 1 KM from Shri Cambridge Education Academy On Singhana-Kukshi Road, Tehsil Kukshi	DHAR	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1029	Between KM Stone No. 38 and KM Stone No.41 on Tilgara - Jabda Road, Tehsil: Badnawar	DHAR	Rural	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1030	Within 1 KM from Anganwadi Kendra Kramank 1 ,KherwaJagir, Tehsil : Manawar	DHAR	Rural	80	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1031	Between Km Stone No 5 and Km Stone No 7 on Gandhwani- Awaldaman Road, Tehsil Gandhwani	DHAR	Rural	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1032	Between Km Stone No 1 and Km Stone No. 3 on Lunhera Bujurg to Upadi Road, Tehsil : Manawar	DHAR	Rural	100	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1033	Between Shri Trilokeshwar Mahadev mandir, Bhangya and Govt. School Bhangya, Tehsil : Malharganj	INDORE	Rural	85	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1034	Between Veer tejaji Maharaj Mandir, Baroli and Pragati Park, Baroli Via Maliblu Resort Tehsil Malharganj	INDORE	Rural	85	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1035	Between KM Stone No.05 and KM Stone No. 07 on Depalpur Betma Road, Tehsil Depalpur	INDORE	Rural	85	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1036	Within 4 KM from Pedmi panchayat bhavan at village- Pedmi on Kampel-Khudail road Tehsil- Khudail	INDORE	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1037	Within 2 KM from St. Mary Convent School, Simrol Chowk on Simrol-Udaynagar Rd Tehsil-Dr Ambedkar nagar	INDORE	Rural	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1038	Between Bijasan Mata Mandir, Indore and BCM Arihant Greens Township , Indore , Teh Malharganj	INDORE	Rural	85	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1039	Between KM Stone No. 06 and KM Stone No.08 on Chander Khajraya Road, Tehsil: Depalpur	INDORE	Rural	85	OBC	DC	20	20	400	16	35	Draw of Lots	5	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimensi f the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Labe )	10 Draw of Lots/Bidding	11	12
1040	Within 2 KM from Gram Panchayat Office Sindoda Tehsil- Rau	INDORE	Rural	70	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
	Within 5 KM from St. Nirankari Satsang bhawan, Sutarkhedi on MHOW-SIMROL road Tehsil- Dr Ambedkar Nagar while going to simrol from sutarkhedi	INDORE	Rural	110	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1042	Within 2 KM from La Sagesse Academy,Indore towards village- Macha on Indore Macha Road tehsil-dr ambedkar nagar	INDORE	Rural	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
	Within 1 km from Brajdham Udasin Ashram at Village- kodriya Tehsil- Dr ambedkar nagar on Kodariya to malendi main road	INDORE	Rural	110	OPEN	СС	20	20	400	16	6	Bidding	10	4
1044	Within 2 KM from TVS - Saanwariya Seth Automobiles at Gwalipalasia on Mhow- Jamli Road Tehsil- Dr Ambedkar Nagar	INDORE	Rural	100	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1 1045	Within 2 km of Pithanpur up swaasth kendra on Jhabua Para road Tehsil Jhabua	JHABUA	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1046	WITHIN 2KM FROM RAILWAY STATION GATE , BAMNIYA, TEHSIL:PETLAWAD	JHABUA	Rural	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1047	Within 2 km of Sankat Mochan walola badi madir on PARA- Ranapur road, Tehsil Rama	JHABUA	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1048	Village: Kogavan on Kasraswad Road, Tehsil : Kasrawad	KHARGONE	Rural	150	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1049	Within 4 Km of Bhilat dev mandir, banihar on Khargone Nangalwadi road :Tehsil Segaon	KHARGONE	Rural	110	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
	Within 4 km from BKG International school, beed fata towards sanawad on Khargone- Sanawad Road: Tehsil Gogaon	KHARGONE	Rural	110	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1 1051	Within 2 Kms of Mirchi Mandi, Bedia on Khargone Sanawad Road, Tehsil Sanawad	KHARGONE	Rural	150	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *		n Dimension (in Finance to be arranged f the site (in Sq. M.) by the applicant		-	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)	
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in	10 Draw of Lots/Bidding	11	12
1052	Village Sakargaon on Bhikangaon -Andad Road, Tehsil Bhikangaon	KHARGONE	Rural	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1053	Within 2 Kms from Intersection of Dhulkot road and Sirvel road towards sirvel, Tehsil :Bhagwanpura	KHARGONE	Rural	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1054	Within 4 km of Sarkari Uchit Mulya Ki Dukan, Patela Tehsil Daloda	MANDSAUR	Rural	70	OPEN CC 2	DC	20	20	400	16	35	Draw of Lots	5	4
1055	Within 2 Km from Rewas Deoda Saraswati Shishu Mandir School On Bugaliya -Rewas Deoda Road, Tehsil-Mandsaur	MANDSAUR	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1056	Within 2 Km from Shaskiya Ucchtar Madhyamik Vidhyalayal Kurawan On Basai to Melkheda Road, Tehsil: Shamgarh	MANDSAUR	Rural	102	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
1057	Within 2 Km from Shaskiya Ucchtar Madhyamik Vidhyalaya, Balguda on Balguda-Bahi Road, Tehsil Malhargarh	MANDSAUR	Rural	103	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1058	Within 2 Km of Shaskiya Ucchtar Madhyamik Vidhyalaya,Jawi on Malkheda-Thadoli Road via Jawi	NEEMUCH	Rural	135	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1059	Within 2 Km of Shaskiya Ucchtar Madhyamik Vidhyalaya , Jhantala on Jhantla -Neemuch Road via Pandukundi ,Tehsil - Singoli	NEEMUCH	Rural	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1060	Within 3 km from Aashirwad Palace, Rawti, tehsil Rewati on Rawti Bajna road	RATLAM	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1061	Within 2 km of aadiwasi balak chhatravaas , Bajna on Bajna Kushalgarh road	RATLAM	Rural	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1062	Within 3 KM from Shaskiya Prathmik Vidyalaya, Kaneri while going to Ratlam from Kaneri	RATLAM	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1063	JHONKAR on JHONKAR -MAXI ROAD , TEHSIL SHAJAPUR	SHAJAPUR	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1064	Village Nichhma on Piploda-Saket khedi Road, Tehsil: Shajapur	SHAJAPUR	Rural	70	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1065	WITHIN 2 KM FROM KOILESHWAR MAHADEV MANDIR, KOILAKHEDI TOWARDS UJJAIN ON UJJAIN KAROHAN ROAD	UJJAIN	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1066	VILLAGE MAKLA ON JHARDA INDOKH ROAD, Tehsil : Jharda	UJJAIN	Rural	62	OBC	DC	20	20	400	16	35	Draw of Lots	5	3

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area d	m Dimensi f the site (	•	Finance to be arranged by the applicant		Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in Lothe )	10 Draw of Lots/Bidding	11	12
1067	BETWEEN KM STONE NO. 15 AND KM STONE NO. 17 ON KHACHROD TO GHINODA ROAD	UJJAIN	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1068	Village Papraudi on Jaithari Pendra Road, Tehsil Jaithari	ANUPPUR	Rural	150	OPEN	CC	20	20	400	16	6	Bidding	10	4
1069	Within 2 km from Gaurihar bus stand towards sichhari on Gaurihar to sichhari road, Tehsil Gaurihar District Chhatarpur	CHHATARPUR	Rural	70	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1070	Within 1 KM from Primary school Nayagaon on Bijawar to Matguwan Road, Tehsil Bijawar	CHHATARPUR	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1071	Within 5 KM from Police station Bamnora Kalan towards Hirapur on Bamnora Kalan to Hirapur Road, Tehsil Ghuwara	CHHATARPUR	Rural	80	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
1072	Within 2 KM from gate of higher secondary school padariya towards chhatarpur on satai to chhatarpur road,	CHHATARPUR	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1073	Village Ramtoriya, on Halawani to vill Baraj road Tehsil Ghuwara (Not on NH )	CHHATARPUR	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1074	Within 2Km from MPEB Office Village Kundali Kalan towards Kanhargaon, Tehsil- umreth	CHHINDWARA	Rural	100	OBC	сс	20	20	400	16	6	Bidding	10	3
1075	Within 2 KM from village Kunda on Amarwara Chourai Road, Tehsil Chourai	CHHINDWARA	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1076	Within 2KM from Junction of Rohan kalan village road and Ring road towards Village Rohana Kalan, Tehsil-Chindwara	CHHINDWARA	Rural	110	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1077	Village Mordongri Khrud Tehsil-Umreth (Between KM stone no 14 to 16 on MDR )	CHHINDWARA	Rural	100	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1078	Within 3 km from Government hospital, Pauner towards Amarwada, Tehsil Amarwara	CHHINDWARA	Rural	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1079	Village Teegaon, Teh: Pandhurna	CHHINDWARA	Rural	100	OBC PH	CC	20	20	400	16	6	Bidding	10	3
1080	Within 4 KM From Maingate of Govt ITI college,Pandurna towards Amarawati	CHHINDWARA	Rural	100	OPEN	сс	20	20	400	16	6	Bidding	10	4
1081	Within 1 km from RTO Chhinwara , Tehsil Chhindwara	CHHINDWARA	Rural	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Madhya Pradesh, as per following details
--

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o			Finance to be arranged I.) by the applicant		Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Fund required for developmen t of infrastructu re at RO (Rs. in Lacks)	10 Draw of Lots/Bidding	11	12
1082	Within 2KM from Jan Shiksha Kendra , Palatwada, Tehsil Parasia	CHHINDWARA	Rural	80	OPEN PH	DC	20	20	400	16	35	Draw of Lots	5	4
1083	Village Bandakpur Tehsil Damoh	DAMOH	Rural	60	OPEN CC 2	DC	20	20	400	16	35	Draw of Lots	5	4
1084	Village Bamanpura Tehsil Patera	DAMOH	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1085	Village Abhana Tehsil Damoh	DAMOH	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1086	Village Samnapur Mal Tehsil Tendukheda	DAMOH	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1087	Village Sakla Mal Tehsil Tendukheda	DAMOH	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1088	Village Tejegarh Tehsil Tendukheda	DAMOH	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1089	Village Baroda Kalan Tehsil Batiyagarh	DAMOH	Rural	65	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1090	Village Imlai Tehsil Damyanti Nagar	DAMOH	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1091	Village Madhiyadoh Tehsil Hatta	DAMOH	Rural	60	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1092	Village Gangai, Tehsil Shahpura	JABALPUR	Rural	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1093	Village Kailwas, Tahsil Jabalur	JABALPUR	Rural	80	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1094	Village Bargi, Tehsil-Jabalpur on Bargi Dam Road	JABALPUR	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1095	Village Padariya, Tehsil Jabalpur on Rani Durgawati Samadhi Road	JABALPUR	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1096	Village Budhuwa, Tehsil Sihora	JABALPUR	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1097	Village Chargawan, Tehsil Shahpura	JABALPUR	Rural	50	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1098	From Village Salaiya to Village Deorihatai,Tehsil-Katni on Salaiya-Deorihatai road	KATNI	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1099	Village Pahadi ,Tehsil Katni on Diwari to Pahadi Road	KATNI	Rural	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1100	Village Binjhiya to Village Katra from Binjhiya Tiraha Mandla to Mandla Bypass (MDR road)	MANDLA	Rural	130	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1101	Between KM Stone no 14 to 17 on Barela-Niwas MDR road	MANDLA	Rural	120	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1102	Village Bisani to Village Tikaria Deori on Bisani to Tikaria Deori Road( Not on National highway)	PANNA	Rural	100	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1103	Village Phool No.1 , Tehsil Mangawan, on Baikunthpur to Lalgaon Road	REWA	Rural	75	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1104	Within 3 km from Handia Branch Post office on MDR road	REWA	Rural	80	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *		m Dimension (in Finance to be a f the site (in Sq. M.) by the appli		-	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)	
1	2	3	4 Regular/ Rural	5 (MS+HSD ) in KLs	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH	7 CC/DC/CFS	Frontage	8 Depth	Area	9a Estimated working capital requiremen t for operation of RO (Rs. in Lakhs)	9b Estimated fund required for developmen t of infrastructu re at RO (Rs. in Lokbs)	10 Draw of Lots/Bidding	11	12
1105	Village Madhi Khurd, Tehsil Mangawan on Road connecting Gangeo Block Office to Khirki village	REWA	Rural	65	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1106	From Village Look No 1 to Jawa road via Village Sitlaha	REWA	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1107	Village Osankheri Tehsil Jaisinagar	SAGAR	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1108	Village Patkui to Village Bararu Tehsil Sagarnagar	SAGAR	Rural	70	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1109	Village Chhapri Tehsil Banda	SAGAR	Rural	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1110	Village Golni Tehsil Khurai	SAGAR	Rural	60	OBC CC 1	DC	20	20	400	16	35	Draw of Lots	5	3
1111	From Chhiboura Mod to Sijahata on Sajjanpur -Chhibaura Road	SATNA	Rural	90	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1112	From Hadbadpur to Bharjuna Kalan on Satna to Jaitwara Road via Umari	SATNA	Rural	65	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1113	VILLAGE KALARBANKI, (ON KHAMARIYA TO JOGIWARA ROAD)	SEONI	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1114	Village Gharghodi, On Khapa -Gharghodi Road, Tehsil Keolari	SEONI	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1115	From Village Mairtola to Village Raspur Tehsil Beohari on Beohari Bansukli Road	SHAHDOL	Rural	110	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
1116	Village Papaundh Tehsil Beohari, on Road from Gandhi Tiraha, papaundh towards Beohari	SHAHDOL	Rural	90	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1117	Village Barka ,Tehsil Sarai on Sarai- Tikri road	SINGRAULI	Rural	75	OBC CC 1	DC	20	20	400	16	35	Draw of Lots	5	3
1118	Within 5 kms from Bijli Station Sarai towards Jhurai on Sarai -Jhurai road	SINGRAULI	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1119	within 6 kms from Government Higher Secondary School, Gadahara towards Bargawan on Bargawan - waidhan Road Tehsil Singrauli	SINGRAULI	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1120	Village Dheka Tehsil Mada on Rajmilan-Mada road	SINGRAULI	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1121	Within 2 kms from Government Middle School, Bhalayatola on Khanuakhas-Langhadol Road Tehsil Sarai	SINGRAULI	Rural	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3

#### H 2 Madhya Pradesh

#### Notice for appointment of Regular / Rural Retail Outlet Dealerships Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Madhya Pradesh, as per following details:

SI No	Name Of Location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site *	Minimu M.)/Area o	m Dimens of the site (	•		be arranged applicant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit ( Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular/ Rural	(MS+HSD ) in KLs	SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH		Frontage	Depth	Area	t for	fund fund required for developmen t of infrastructu re at RO (Rs. in Laibe )	Draw of Lots/Bidding		
1122	Within 5 km from Budera police station towards sawantkhera on Budera to sawantkhera road ,Tehsil Badagaon Dhasan	TIKAMGARH	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1 1123	Within 2 km from Gate of chandera khas police station On Lidhaura To Jatara Road, Tehsil Lidhaura	TIKAMGARH	Rural	75	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
11/4	From Village- Narbar to Village - Shahpur, Tehsil Pali on Kalyanpur Shahpur Road	UMARIA	Rural	100	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1 1125	From Village Harrwah to Village Bilaspur Tehsil Bilaspur on Harrwah- Bilaspur Road	UMARIA	Rural	90	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
1126	Village Medhaki Tehsil Pali, on Sohagpur to Manpur Road	UMARIA	Rural	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

\* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (<u>www.iocl.com/www.petrolpumpdealerchayan.in</u>) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of	Category	Applicat ion fee	Type of RO	Type of Site	Category	Application
	Site		in Rs.				fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000	] [	CC	OBC	4000
Regular ROs	CC	Open	10000	Rural ROs	CC	Open	8000
	DC	OBC	5000	] [	DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 01 years therefore

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership

#### The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will For any information with regard to the advertisement, candidates may contact the following address:-

For District	Divisional office Address
Bhopal, Raisen, Sehore, Vidisha, Rajgarh, Narmadapuram, Harda, Ashoknagar, Guna, Shivpuri, Sheopur, Gwalior,	Bhopal Divisional Office, 1st floor, IndianOil Bhawan, 16, Arera Hills, Jail Road, Bhopal - 462 011, Ph : 0755-2524757
Datia, Bhind, Morena, Betul.	
Indore, Dewas, Ujjain, Khandwa, Khargone, Burhanpur, Ratlam, Jhabua, Alirajpur, Mandsaur, Neemuch, Dhar,	Indore Divisional Office, IndianOil Bhawan, Plot No.8, Scheme No.159, MR-10, Kushabhau Thakre Marg, Indore (MP) - 452016 Ph: 0731-
Barwani, Shajapur, Agar-Malwa.	2970520 / 0731-2970521
Jabalpur, Katni, Damoh, Umaria, Satna, Panna, Rewa, Anuppur, Shahdol, Chhindwara, Seoni, Balaghat, Sagar,	Jabalpur Divisional Office, Block No.9, Ilnd Floor, Scheme No-18 ,Civic Centre, Marhatal, Jabalpur (MP) - 482 002,
Chhatarpur, Mandla, Narsinghpur, Dindori, Sidhi, Singrauli, Tikamgarh, Niwari.	Ph: 0761-2480499